



Calhoun: The NPS Institutional Archive

DSpace Repository

Theses and Dissertations

1. Thesis and Dissertation Collection, all items

1992-09

Analysis of P-3 aircrew coordination training.

Kinney, John G.

Monterey, California. Naval Postgraduate School

https://hdl.handle.net/10945/23535

This publication is a work of the U.S. Government as defined in Title 17, United States Code, Section 101. Copyright protection is not available for this work in the United States.

Downloaded from NPS Archive: Calhoun



Calhoun is the Naval Postgraduate School's public access digital repository for research materials and institutional publications created by the NPS community. Calhoun is named for Professor of Mathematics Guy K. Calhoun, NPS's first appointed -- and published -- scholarly author.

> Dudley Knox Library / Naval Postgraduate School 411 Dyer Road / 1 University Circle Monterey, California USA 93943

http://www.nps.edu/library



DUDLEY KNOX LIBRARY NAVAL POSTGRADUATE SCHOOI MGNTEREY CA 93943-5101



Unclassified

22a Name of Responsible Individual

Alice Crawford

DD FORM 1473, 84 MAR

Sec	urity Classification	n of this pag	ze							
				1	REPORT DOC	UMEN	TATION PAGE			
1a	a Report Security Classification Unclassified						1b Restrictive Markin	ngs		
2a	a Security Classification Authority						3 Distribution Avail	ability of Report		
2Ъ	2b Declassification/Downgrading Schedule						Approved for public rele	ease; distribution is un	limited.	
4 Performing Organization Report Number(s)							5 Monitoring Organization Report Number(s)			
6a	Name of Performi	ng Organiza	zation 6b Office Symbol			7a Name of Monitoring Organization				
	Naval Postgraduate S	School	(If Appl	licable) 39		Naval Postgraduate School			
6c	Address (city, state	e, and ZIP co	ode)				7b Address (city, state,	, and ZIP code)		
Mon	nerey, CA 93943-50	000					Monterey, CA 93943-500	00		
8a	8a Name of Funding/Sponsoring Organization 8b Office Symbol (If Applicable)					9 Procurement Instrument Identification Number				
8c	Address (city, state	e, and ZIP co	ode)				10 Source of Funding Numbers			
							Program Element Number	Project No Task N	Work Unit Accession No	
11	Title (Include Sec	urity Classij	fication) A	Analysis	of P-3 Aircrew	Coordir	nation Training			
12	Personal Author(s	s) Kinney, Jo	hn Gerald							
13a	Type of Report	13	b Time Co	vered			14 Date of Report (year, month,day) 15 Page Count			
Mas	ter's Thesis	Fre	om To		o		September 1992		83	
16	Supplementary N the Department of I	otation The Defense or the	views expre U.S. Gover	essed in nment.	this thesis are th	nose of	the author and do not refle	ect the official policy o	or position of	
17	Cosati Codes		18 Sub	ject Tei	rms (<i>continue d</i>	on reve	reverse if necessary and identify by block number)			
Fiel	d Group S	Subgroup	Crew Co	ordinati	ion, Cockpit Res	ources	Management, P-3 Aircraft	, Aviation Safety		
19) mhar		-				Abstract (continue on	reverse if necessar	y and identify by block	
the Pat A c Bas of	Crew coordination problem of crew rol Squadron Thir one day seminar v ordination training sed on the results before and after qu	a error has be coordination ty-One was vas develope the Cockpin of the questionnaire	een identifi n all Fleet tasked to ir ed and imp Managem ionnaire, at responses,	ed by t Replace npleme lement ent Att titudes signifi	he Naval Safer ement Squadro nt crew coordi ed for Moffett itudes Questio that lead to eff cant changes in	ty Cent ons wer ination Field onnaire fective n attitu	er as the number one care directed to implement training for P-3 fleet re and Barbers Point P-3 was administered to cr crew coordination are des for crewmembers w	ause of Naval Aviation a training program eplacement students squadrons. To mea rewmembers prior to enhanced by the ser vere identified and e	on mishaps. To address in for all Naval Aircraft. and for fleet squadrons. asure the effect of crew to and after the seminar. minar. Utilizing t-tests explained.	
20	Distribution/Avai	ilability of	Abstract			:	21 Abstract Security	Classification		
[]	X unclassified/unlim	nited	same as repo	ort	DTIC users		Unclassified			

83 APR edition may be used until exhausted

22b Telephone (Include Area code)

(408) 646-2536

22c Office Symbol

62Pz

security classification of this page

UNCLASSIFIED

Approved for public release; distribution is unlimited.

Analysis of P-3 Aircrew Coordination Training

by

John G. Kinney B.S., Sacramento State University, 1983

Submitted in partial fulfillment of the requirements for the degree of

MASTER OF SCIENCE IN MANPOWER, PERSONNEL AND TRAINING ANALYSIS

from the

NAVAL POSTGRADUATE SCHOOL SEPTTEMBER 1992

ABSTRACT

Crew coordination error has been identified by the Naval Safety Center as the number one cause of Naval Aviation mishaps. To address the problem of crew coordination all Fleet Replacement Squadrons were directed to implement a training program for all Naval Aircraft. Patrol Squadron Thirty-One was tasked to implement crew coordination training for P-3 fleet replacement students and for fleet squadrons. A one day seminar was developed and implemented for Moffett Field and Barbers Point P-3 squadrons. To measure the effect of crew coordination training the Cockpit Management Attitudes Questionnaire was administered to crewmembers prior to and after the seminar. Based on the results of the questionnaire, attitudes that lead to effective crew coordination are enhanced by the seminar. Utilizing t-tests of before and after questionnaire responses, significant changes in attitudes for crewmembers were identified and explained.



TABLE OF CONTENTS

ABS	TRA	ACT.		III
TAB	BLE (OF C	ONTENTS	IV
LIST	ГOF	TAB	LES	. VIII
LIST	ГOF	FIGU	URES	IX
I. A	IRC	REW	COORDINATION TRAINING	1
	А.	STA	TEMENT OF THE OBJECTIVE	1
	B.	BAC	CKGROUND	2
		1.	Aircrew Coordination Training Origins	2
		2.	Aircrew Coordination Training Development	4
		3.	The Aircraft	5
		4.	P-3 Orion Mishap History	6
II.	P-3	AIR	CREW COORDINATION TRAINING	9
	Α.	TRA	AINING PROGRAM IMPLEMENTATION	9
	B.	SEN	1INAR DESIGN	9
	C.	COI	URSE ORIGINS AND CONTENT	10
	D.	OBJ	ECTIVES AND METHODS OF P-3 ACT	12
		1.	Synergy	12
		2.	Team Creation/Building	13
		3.	Style of Personality	15
		4.	Communication	16
		5.	Decision Review	18
	E.	AC	T EFFECTIVENESS CRITERIA	19
	F.	CO	CKPIT MANAGEMENT ATTITUDES QUESTIONNAIRE	21

			DUDLEY KNOX LIBRARY NAVAL POSTGRADUATE SCHOOI
	G.	P-3 AIRCREW COORDINATION TRAINING.	24
	H.	ORGANIZATIONAL/INDIVIDUAL REACTION	DN25
		1. Resistance to Change	25
		2. The Boomerang Effect	
III.	DAT	A AND METHODOLOGY	
	Α.	DATA SET	
	Β.	FILTERING OF DATA	
	C.	RESPONDENT DEMOGRAPHIC INFORMAT	TION32
	D.	HYPOTHESIZED ATTITUDE CHANGE MODE	EL33
	E.	ANALYTICAL PROCEDURES	
		1. Hypothesis Tests For Means of Paired Sar	nples35
		2. Correlation Analysis	
IV.	RE	SULTS AND DISCUSSION	
	Α.	T-TEST ANALYSIS	
	Β.	INTERPRETATION OF T-TEST ANALYSIS	43
		1. Sub-group One	44
		2. Sub-group Two	44
		3. Sub-group Three	45
	C.	CORRELATION ANALYSIS	45
	D.	INTERPRETATION OF CORRELATION ANA	ALYSIS48
VI.	CON	CLUSIONS AND RECOMMENDATIONS	50
	Α.	CONCLUSIONS	50
		1. CMAQ T-test Results	
		2. CMAQ Correlation Results	51
		3. Program Effectiveness	

	Β.	IMPI	licati	ONS.				52
	C.	RECO	OMME	NDA	TIONS			52
APF	EN	DIX	A.	P-3	COCKPIT	MANAGEMENT	ATTITUDES	
	QU	ESTI	ONNA	IRE (O	CMAQ)		•••••	56
APPENDIX B-1. T-TEST RESULTS FOR CMAQ RESPONSES								
REFERENCES								
INITIAL DISTRIBUTION LIST								

.

LIST OF TABLES

TABLE 3.1 DEMOGRAPHIC DATA FOR PERSONNEL INCLUDED IN CMAQ ANALYSIS	33
TABLE 4.1 GROUP CMAQ PRESEMINAR (X1) AND POSTSEMINAR (X2) SURVEY MEANS, CHANGE, T VALUE AND T- TEST RESULTS	40
TABLE 4.2 BREAKDOWN OF ATTITUDE CHANGES AS INDICATED BY A T-TEST OF PRE AND POST ACT SEMINAR CMAQ SURVEYS	42
TABLE 4.3 CORRELATION OF CMAQ CHANGES AND DEMOGRAPHIC DATA CORRELATION VALUES	47
TABLE B-1. PLANE COMMANDER T-TEST RESULTS	58
TABLE B-2. SECOND PILOT T-TEST RESULTS	59
TABLE B-3. THIRD PILOT T-TEST RESULTS	60
TABLE B-5. NAVIGATOR T-TEST RESULTS	62
TABLE B-6. TACTICAL COORDINATOR T-TEST RESULTS	63
TABLE B-7. SENSOR ONE T-TEST RESULTS	64
TABLE B-8. SENSOR TWO T-TEST RESULTS	65
TABLE B-9. SENSOR THREE T-TEST RESULTS	66
TABLE B-10. INFLIGHT TECHNICIAN T-TEST RESULTS	67
TABLE B-11. ORDNANCE T-TEST RESULTS	68

LIST OF FIGURES

Figure 1.1.	United States Navy P-3C Orion	6
Figure 1.2.	Causes of P-3 Class A Mishaps 1963-1992	8
Figure 3.1	Hypothesized Measure of Attitude Change	34
Figure 4.1	Favorable Changes in CMAQ Attitudes	.43

ACKNOWLEDGMENTS

Thanks to the many people who assisted me in preparing this thesis including: my advisor Professor Alice Crawford, Dr. Henry Smith of Patrol Squadron Thirty-One, Dr. John Wilhelm of the University of Texas at Austin, Dr. Anthony Civarelli of the Naval Aviation Safety School, Dr. Steve Gregorich of NASA-Ames and Hania LaBorn my thesis preparer. Special thanks to my wife Sandra Kinney for her never ending support.

.

I. AIRCREW COORDINATION TRAINING

A. STATEMENT OF THE OBJECTIVE

The purpose of this report is to measure attitudinal change resulting from aircrew coordination training. Attitudinal change is necessary for the ultimate goal of this training program to be achieved. A training program with concepts and theories adequate to cause attitude change, should result in behavior change because attitudes and behavior are assumed to be linked (Helmreich, Foushee, Benson, Russini, 1986). Behavior more conducive to safe operation of aircraft is the ultimate goal of Aircrew Coordination Training.

This thesis examines the attitude changes occurring in P-3 Orion aircrew personnel who have attended training administered by Patrol Squadron Thirty-One. The Cockpit Management Attitudes Questionnaire (Helmreich, Wilhelm, and Gregorich, 1988) was administered to seminar participants prior to and immediately after completion of training. Changes in the responses of survey participants may be indicative of changes in attitudes caused by training (Helmreich, Foushee, Benson, Russini, 1986). The consistency and magnitude of changes may provide patterns of change indicative of aircrew coordination training effectiveness or ineffectiveness. This report will attempt to identify and explain the significance of survey response changes.

B. BACKGROUND

1. Aircrew Coordination Training Origins

There has always been an inherent element of risk associated with the flight of aircraft. As advancements in flight operations have occurred, the element of risk has been sufficiently reduced to make aircraft operations practical for a multitude of purposes. Significant improvements in aircraft design, air traffic control and weather forecasting have reduced the danger of flight operations.

Significant events in the development of crew coordination training are detailed by Manningham (1986) starting with events during the early 1970s. The term "pilot error" was an often used description applied to explain many mishaps. Researchers at the National Aeronautics and Space Administration conducted interviews and observed the performance of crews to further understand the cause of "pilot error." Investigations into the 1972 crash of an airliner into the Florida everglades, a 1985 crash of a Lockheed Electra soon after takeoff in Nevada and other mishaps identified the failures resulting from poor crew coordination. The severity and complexity of crew coordination error was recognized by the National Transportation and Safety board and the Federal Aviation Administration. The need for a new approach to crew training was identified. To meet this need individuals from all sectors of aviation have sought to understand crew coordination error. The results of approximately fifteen years of research have been the development of crew coordination training programs that are now a part of almost every aviation training program.

Human factors research has determined that pilot experience, age and time of day are three important variables in aviation safety. Research has identified the "Most Dangerous Pilot" (Borowsky 1990) as one who has only five hundred hours or less experience in the assigned aircraft and less than one thousand hours total. A newly qualified P-3 aircraft commander in many cases fits this description, and is supported by second and third pilots who have even less experience. As pilots age they become less likely to make the skill errors common to junior pilots but become more likely to make procedural errors. Familiarity tends to cause complacency in more senior Navy pilots. Further, a dramatic increase in the number of mishaps per 100,000 flight hours occurs as pilots fly during the 1800-2400 hour time frame. During night time hours, the mishap rate increases from 2 to 4.2 mishaps per 100,000 flight hours(Borowsky, 1990). Inexperience, age and time of day are important and known tendencies.

There is yet another human factor that is more significant than inexperience, age or time of day. At present, the most significant causal factor in aviation mishaps is crew coordination error. Aircrew error accounted for 55 percent of the overall Navy/Marine mishap rate during the years 1985 through 1990 (Borowsky,1990). The cost of aircrew error during this time was 245 invaluable lives and 187 aircraft worth 1.7 billion dollars (Borowsky, 1990)¹.

¹Written permission from the Commander Naval Safety Center was obtained to allow utilization of Naval Aviation mishap data.

The need for extensively trained personnel to operate aircraft is recognized by civilian and military aviation authorities. Training programs to date have emphasized thorough knowledge of aircraft systems, and flight procedures. However, reconstruction of past aviation mishaps has identified human failures not addressed by traditional training programs. Fully qualified and extensively trained personnel have become involved in mishaps due to human error. The nature of this other category of human error has been identified and is the target of new training programs in civilian and military aviation. The field of study supporting the research and training is widely known as Cockpit Resources Management. Recognizing the important role of crewmembers other than cockpit personnel, the Navy has entitled its program Aircrew Coordination Training (ACT).

2. Aircrew Coordination Training Development

Interest in ACT research and training has developed because human error is the most significant cause of aviation mishaps. The type of errors that are the focus of ACT include errors of decision-making, judgment, and communications [Cooper, White, Lauber, 1980]. Analysis of cockpit simulator training demonstrates that crews who more effectively utilize crew coordination concepts, are more successful when coping with in-flight emergencies [Foushee and Manos, 1981]. Dr. John K. Lauber of the National transportation Safety Board defines ACT as:

The effective utilization of all available resources—hardware, software, and liveware—to achieve safe, efficient flight operations (Lauber, 1986).

Organizations currently devoting resources to ACT research and implementation include the Federal Aviation Administration, National

Aviation and Space Administration, National Transportation Safety Board, commercial airlines, military aviation and universities. Improvements in crew coordination are the focus of so many groups because of the necessity for improvement.

ACT Training programs vary widely in content and method of implementation. Significant research into ACT has produced a theoretical base too large for a single program to cover. ACT training programs must choose the most appropriate material considering resources available to implement a program and the mission of the aircraft. A resource intensive method of implementation includes the use of flight simulators. Via observation of simulator events the practicality and need for ACT was first demonstrated. Simulator training is highly useful for decision-making, communication and coordination training [Foushee and Manos 1981]. The alternative to simulator training is classroom instruction. The P-3 ACT course utilizes classroom instruction combined with role play exercises to demonstrate ACT concepts. Future P-3 ACT courses may incorporate the utilization of simulators if the resource is made available.

3. The Aircraft

The Lockheed P-3 Orion aircraft has been utilized by aircrews of the United States Navy since 1962 for maritime patrol operations (Figure 1.1). The primary mission of the aircraft is anti-submarine warfare. Squadrons of P-3 aircraft are deployed throughout the world on a continuous basis, monitoring maritime activities of other nations. The aircraft is capable of transoceanic flights in excess of fifteen hours (P-3C Flight Manual, 1983). The current version of the aircraft is operated by a crew of twelve including: three

pilots, two flight engineers, two acoustic equipment operators, a tactical coordinator, navigator, radar operator, in-flight technician and ordnanceman. The twelve members form a combat air crew. To allow improved teamwork and efficiency, combat aircrews conduct all training and operational missions as an intact twelve-member group. The crew is responsible for operation of an extensive variety of electronics equipment designed to allow detection, tracking and attack of submarines and ships. The aircraft is capable of carrying mines, torpedoes, anti-ship missiles and gravity bombs to carry out wartime missions.



Figure 1.1. United States Navy P-3C Orion

4. P-3 Orion Mishap History

The P-3 Orion began operation in the U.S. Navy fleet in 1962. Since that time forward deployed squadrons have been patrolling the waters of the Atlantic, Indian, Pacific and Mediterranean oceans. During the twenty-nine years of operation thirty-four aircraft have been destroyed and 247 lives have been lost as a result of mishaps [(Hess, 1983), (Borowsky, 1992)]². Despite the large loss of life the P-3 is considered safe relative to other aircraft in naval aviation. For the years 1985-1991 the F/A-18 mishap rate per 100,000 flight hours was 4.23, whereas the P-3 mishap rate was .19 (Borowsky, 1991). Of the thirty-four P-3 aircraft destroyed, twenty were destroyed while at forward deployed locations. Figure 1.2 shows that eight of the thirty four mishaps were known to be caused by mechanical error, twenty-four were in part caused by aircrew error and two were due to unknown causes (Hess, 1983, Borowsky 1992).

²Aircraft destroyed were involved in Class A mishaps. OPNAV instruction 3750.6Q defines a Class A mishap an event where total damage is \$1,000,000 or greater; or the aircraft is destroyed or missing; or a fatality or permanent total disability occurs with direct involvement of Naval aircraft.



Figure 1.2. Causes of P-3 Class A Mishaps 1963-1992

II. P-3 AIRCREW COORDINATION TRAINING

A. TRAINING PROGRAM IMPLEMENTATION

As authorized by Commander Patrol Wings Pacific, Patrol Squadron Thirty-One was tasked to provide Aircrew Coordination Training for all P-3 squadrons based at Naval Air Station Moffett Field and Naval Air Station Barbers Point. Patrol Squadron Thirty-One is the west coast P-3 fleet replacement training squadron. Under the direction of the command training specialist, Dr. Henry H. Smith, the squadron first trained its own group of facilitators. Utilizing the command training specialist plus a cadre of its own instructor pilots and flight officers, Patrol Squadron Thirty-One completed seminars at each squadron. The initial seminars were followed by the training of facilitators from each squadron who then completed the task of training all twelve combat aircrews.

B. SEMINAR DESIGN

The P-3 Orion Aircrew Coordination Training seminar is designed to be facilitated by two squadron instructors who guide a combat aircrew through an eight-hour progression of concepts and ideas relevant to flight safety and efficient crew coordination (VP-31 ACT Facilitator Guide, 1989). Key to the success of the program is the concept of allowing each squadron the opportunity to select its own instructors. Internally selected instructors are more easily accepted and are more capable of understanding the perspectives of trainees. Aircrew Coordination Training Instructors utilize a facilitator guide, instructional guide and flip-chart and video presentations during the day-long course. Ideally, the setting for the seminar is a relaxed atmosphere wherein participants wear flight suits instead of uniforms, form a circular seating arrangement for ease of conversation and are encouraged to offer their views on the concepts at any point during the seminar. A full eight hours of discussion is usually required to complete the seminar, including a working lunch wherein members are encouraged to order out pizza or sandwiches for the group. The setting for the seminar, ideally, is away from the squadron so that interruptions are kept to a minimum allowing crewmembers to focus on the material presented. Critical to the success of the program is the promise of confidentiality to crewmembers who share personal information with the group. Incidents that have nearly resulted in aviation mishaps eventually happen to all crewmembers and provide valuable material for the seminar. The entire discussion is confidential among the crew and the facilitators. Only the promise of confidentiality will allow open and frank discussion of ideas and experiences.

C. COURSE ORIGINS AND CONTENT

The field of Cockpit Resources Management, includes a broad base of knowledge put together over several decades of research and application. A variety of Cockpit Resources Management programs are being presented world wide to aircrews of civil and military aircraft. Each program is different, as the needs of the organization or the mission of the aircraft dictate the content of the course.

The P-3 ACT course is a version of the program put together by three Air Force Reserve pilots. Lt.Col. Biegalski, Lt.Col. Halliday Major Houle and Major Inzana designed and implemented an ACT course for crews flying the C-5 transport aircraft (Halliday, Biegalski, Inzana, 1986). The course structure is guided by the concept that the goal of ACT is to provide the aircrew with something immediately useful and practical. Videos and taped role plays are used to demonstrate ACT concepts and to provide feedback. Like the P-3 version of their course, the C-5 course facilitators guide a day-long discussion in a classroom environment. The link between Air Force ACT and P-3 ACT, is Dr. Henry H. Smith who modified, tested and implemented a revised version of the Air Force course. With the support of Patrol Squadron Thirty-One Commanders Alford, Bozin and Hull, and Dr. Smith integrated ACT into the VP-31 fleet squadron training program.

The content of the course offered to the aircrews of the United States Navy P-3 Orions is structured to suit the unique features and mission of the airplane they fly. There are five main sections to the P-3 aircrew coordination training course (VP-31 ACT Instructor Guide, 1990). The five main sections include:

- Synergy
- Team Creation/Building
- Style of Personality
- Communication
- Decision Review

D. OBJECTIVES AND METHODS OF P-3 ACT

Each section included in the P-3 aircrew coordination training course is designed to achieve specific objectives critical to aircraft safety. The objectives expand and emphasize concepts participants are familiar with in practice but lacking in understanding and application. The course material emphasizes application of the objectives through education, demonstration and role play activities.

1. Synergy

Synergy occurs when the whole of an aircrews' effort is greater than the sum of its parts. Synergy occurs when crewmembers work together as a team. The P-3 Aircrew Coordination Instructor Guide indicates that synergy will only occur when all share a joint and co-equal sense of responsibility for the safe completion of a flight. Lack of synergy has been responsible for many previous aviation mishaps wherein a crewmember fails to volunteer or accept information necessary to prevent a mishap.

Synergy is difficult to achieve because of conditioning that leads to withholding information critical of other crewmembers. Information is withheld because of barriers between crewmembers. For example, in the military relative rank can create a barrier. Junior ranking personnel are reluctant to correct the mistakes of senior ranking personnel. Lack of experience can be intimidating for a recently trained crewmember. Inexperienced personnel have failed to offer valid information because they lacked confidence in their abilities or were intimidated by a senior person (VP-31 ACT Instructor Guide, 1990).

For synergy to be achieved all crewmembers must recognize the responsibility of offering their observations to others. All crewmembers must be receptive to information offered to them. This requires that barriers to the transfer of information be sufficiently reduced for information to be exchanged, no matter what the rank or experience level involved.

Synergy is demonstrated to seminar participants through a general knowledge quiz. Subsequent to the quiz individual scores are tallied. Individuals normally score in the range of seven to ten correct scores out of twenty. The group is then allowed to work together on the quiz. Group scores tend to significantly exceed the score of any individual. Groups regularly come up with eighteen to twenty correct answers on the quiz, demonstrating the effect of synergy.

2. Team Creation/Building

Richard Hackman of Harvard University, developed an aircrew behavior model titled the Life Cycle of the Crew. The model explains elements of crew behavior critical to safe flight operations (Hackman, 1989). During the course of a flight the crew will progress through several phases of team development. Crews proceed through the phases of team development with differing degrees of effectiveness. Dr. Hackman identified the following four distinct phases of the Life Cycle of the Crew:

- Team Creation
- Team Building
- Team Acting/Execution
- Team Termination

The team creation phase occurs when members of a flight crew first meet to discuss a flight. The team creation phase only lasts for five to ten

minutes. During this time the flight crew leadership, a Pilot or Flight Officer, establishes the behavioral norms as related to safety, communication and cooperation. Hackman observed that the norms established at the initial briefing usually become fixed for the remainder of the flight.

To effectively emphasize the importance of safety, the initial team creation phase must establish the expected level of regard for safety. Crewmembers should be encouraged to avoid unsafe practices and look for hazardous situations that could affect others. For effective communication to occur on board the aircraft, barriers to communication must be overcome. Barriers to communication include: superior/subordinate relationships, fatigue, distractions, noise, workload, instructor/student relationships and communication by interphone. Crewmembers should be encouraged to overcome the barriers to communication when important messages must be conveyed. The importance of cooperation in the role of mission success should be established from the outset of the briefing. Cooperation requires that crewmembers assist others when their work is completed. Safety, communication and cooperation are key elements in the Life Cycle of the Crew.

To illustrate concepts defined by Hackman, a video presentation of a briefing emphasizing the utilization of these concepts is shown to seminar participants. The video includes a twelve-member P-3 crew conducting an initial briefing for a surface ship surveillance flight. Following the video tape, participants are given a hypothetical mission assignment and asked to conduct their own briefing. After completion of their mission brief, crewmembers view a video playback to observe their ability to include safety,

communication and cooperation as part of a briefing. The next three phases in the Life Cycle of the Crew are addressed by a discussion with seminar participants led by the facilitators.

Team building occurs during spare moments before and during flight. Aircrew who choose to interact during this time are better able to communicate during the mission phase. Team building communication addresses events that will affect the crew including: the addition of a new member, destination billeting, inflight meals and other factors affecting a crewmember's performance. The team Acting/Execution phase occurs during flight when crewmembers perform their duties. This is when the ability of the crew to handle safety and mission related activities is carried out. The team termination phase occurs after mission completion when crewmembers recapitulate events. During team termination, crew coordination successes or failures should be identified and lessons learned from them.

3. Style of Personality

Personalities of individuals on a crew can affect quality of interaction among crewmembers. For synergy to exist, crewmembers should have knowledge of differing styles of personalities. Four distinct styles of personalities are compiled into a behavior model for the seminar. Distinctive styles are given names to allow easy association and understanding. The styles of personality discussed are the driver, analytical, amiable and expressive. The driver is said to be: industrious, systematic, persistent, detail oriented, serious, exacting and precise. The analytical person is characterized as: objective, determined, requiring, independent, pragmatic, efficient and

decisive. Amiable personalities are: supportive, loyal, friendly, responsive, dependent, easy going and cooperative. The expressive personality is: imaginative, out-going, stimulating, enthusiastic, spontaneous, fun-loving and ambitious.

Facilitators lead the discussion and explain to crewmembers how personality can affect achievement of synergy. No attempt to modify personalities is done by the course. Personalities are assumed to be fixed (Gregorich, Helmreich, Wilhelm, Chidester, 1989). Crewmembers must learn to adapt to each other to promote synergy. Each personality style can affect the crew in positive and negative ways. Effective synergy is achieved when a crew can combine the best attributes of each personality. The discussion of personalities is intended to promote the awareness of personality as a major factor in crew interaction and illustrate how crewmembers can adapt to each other. Through education a crew should be more able to cope with the four personality groups identified in the seminar.

4. Communication

The third model introduced is the cornerstone of the seminar. The model is named the Synergy Formula and it is composed of three parts:

- Questioning
- Promoting
- Conflict

These concepts are the critical elements in the communication process that affect a crew's ability to cope with challenging flight scenarios. When circumstances occur that could result in development of an unsafe situation, crewmembers should question what is occurring, promote their

concerns about action taken and seek to resolve conflict. Facilitators explain the concepts and give practical examples of their utilization.

Questioning, in the context of aircrew coordination training, is an attitude that all crewmembers should possess. Each crewmember should always be aware of the current phase of flight and plan of action. By constantly checking one's actions and cross checking actions of others, mistakes can be detected early and corrective action taken. Facilitators encourage junior personnel to cross check actions of more experienced crewmembers. Senior crewmembers are encouraged not to feel threatened by a junior crewmember questioning their actions. Questioning requires that crewmembers learn to doubt the status quo is correct and accept that everyone is capable of making mistakes.

Promoting is recognition and encouragement for crewmembers to be assertive when necessary. A group interaction decision-making phenomena, group think, can cause inferior decisions to be made by the group (Janis, 1972). To avoid group think behavior, an individual who believes his/her opinion is correct and that the group is wrong should voice that opinion until a satisfactory answer is provided. Facilitators explain promoting as a responsibility inherent in assignment to an aircrew. Crewmembers are not qualified until they have demonstrated a satisfactory level of competence. A qualified crewmember is responsible for being assertive and expressing concerns not addressed by the present course of action. Qualified crewmembers should not tolerate a situation if they are not satisfied with the course of action and have not received a satisfactory answer to their concerns.

Conflict is a desirable element and necessary for optimum crew coordination. Crewmembers must learn to resist tendencies to avoid conflict out of respect for rank or experience. Conflict is a natural result of questioning and promoting. Conflict occurs as crewmembers approach situations with different values, experience, training, opinions and personalities. A crew able to effectively utilize conflict can realize benefits. Ideally, conflict will lead to better problem solving, deeper thinking and a more effective decision making process.

5. Decision Review

Decision Review is the method used to put synergy into effect. Decision Review is also known as a Bubba Review. By utilizing a word not popular in present vernacular, the Bubba review is immediately associated with the synergy model. A crewmember who identifies an unsafe situation developing should demand a Bubba Review. During a Bubba Review, questions causing concern are promoted to other crewmembers. A crewmember requesting a Bubba Review believes an unsafe situation has developed. Other crewmembers should attempt to resolve the conflict that has occurred by reexamining the present course of action. Through resolution of the conflict the current course of action can be continued or an alternative implemented.

A bubba review can be demanded at any time by any crewmember. A bubba review is composed of three questions:

- Sir, what is the decision?
- What are the consequences of the decision?
- Is there a new, alternative, better decision?

A bubba review causes a more open and complete decision making process. The completion of the review puts relevant issues in the open and allows a decision to be made based on issues identified by everyone. Another Bubba Review benefit is the effect of informing everyone on the aircraft the current course of action. Seminar participants are encouraged to write the synergy formula on one side of a note card and the three Bubba Review questions on the other side. The card should be kept in the individual's inflight checklist for immediate reference.

E. ACT EFFECTIVENESS CRITERIA

The driving force for widespread implementation of ACT and justification for its continued development is preservation of lives and assets. The criteria for determining if that goal is occurring are not easily measured. Number of mishaps per one hundred thousand flight hours, is the most popular criteria used in assessing effectiveness of Naval Aviation safety. For the year 1991 the mishap rate for Naval Aviation was 2.91 per 100,000 flight hours (Borowsky, 1990). Statistically, that number is very low relative to the number of hours flown. Since mishaps for some aircraft are infrequent events, measurement of mishaps per hours flown can be greatly affected by chance. A few chance incidents can greatly affect the mishap rate (Helmreich, Chidester, Foushee, Gregorich, Wilhelm 1989). A mid air collision of two aircraft or the crash of a formation flight define a single event that would skew the mishap rate figure. Only by observing mishap rates over a long period of years could any distinct trend be determined. Claims of immediate reductions in mishap rates via ACT may be premature. Since organizations
cannot continue a program such as ACT for an extended period on a trial basis, short term measures of program effectiveness are necessary for justification and further implementation.

To provide more immediate and valid measures of ACT effectiveness, Helmreich, Foushee, and Wilhelm (1989) have developed methods of assessment that can be applied. Instead of one measure, multiple measures are recommended. Three indicators are suggested including:

- Outcome Measures
- Process Measures
- Moderator Factors

The implementation of ACT should have observable effects. These effects are called outcome measures and include incidents where ACT training prevented a mishap, changes in crew coordination attitudes/abilities and a favorable response by crew members towards ACT (Helmreich, Foushee, and Wilhelm, 1989). Process measures are actual changes in execution briefing, preflight, flight and postflight evolution caused by implementation of ACT procedures. Process measures represent the implementation of ACT concepts into normal operating procedures. Moderator factors are composed of human and material resources and include organizational support and environmental factors that affect implementation of ACT. The implementation of ACT demands change from those involved. To overcome the resistance to change inherent in large organizations, moderator factors must support ACT. Success or failure of an ACT program can be determined by the moderator factors.

F. COCKPIT MANAGEMENT ATTITUDES QUESTIONNAIRE

The data set utilized to provide an analytical basis for this report is derived from the Cockpit Management Attitudes Questionnaire [(CMAQ), (Helmreich, Wilhelm, Gregorich, 1988), (Appendix A)]. Based on a study of 60 aviation mishaps occurring from 1968-1976 (Cooper, Lauber, 1980) five common errors related to crew coordination were identified including:

- Preoccupation with minor technical problems
- Inadequate leadership
- Failure to delegate tasks and assign responsibilities
- Failure to set priorities
- Failure to communicate intent and plans

The crew coordination attitudes necessary to prevent a reoccurrence of these failures were determined. The attitudes were compiled into a survey with a corresponding scale to allow the degree of concurrence of disagreement expressed by a respondent. The survey was titled The Cockpit Management Attitudes Questionnaire (CMAQ). An updated format is widely used for civil and military analysis of ACT effectiveness (Gregorich, Helmreich, Wilhelm, 1989). Responses to CMAQ survey questions can be analyzed by statistical methods to determine effects ACT training. The degree of concurrence or disagreement with survey questions indicates disposition towards attitudes critical to flight safety.

Trends can be expected in responses to the CMAQ. Organizations whose aircraft and mission are conducive to ACT implementation score more favorably to survey responses. For multi-crewed aircraft (P-3), safety and mission effectiveness are positively correlated to crew coordination ability. For single piloted aircraft (F-18), the potential benefit of crew coordination is

less as safety and mission effectiveness are often dependent upon one individual. This does not imply that pilots of single seat aircraft cannot benefit from ACT. Often pilots of single seat aircraft work in coordination with other aircraft and personnel external to their platform. History effects explain that aircrew members who have long term exposure to ACT respond differently than those who don't. Exposure to formal and informal training methods eventually causes increased awareness and acceptance of ACT (Gregorich, Helmreich, Wilhelm 1990).

The survey was modified for P-3 ACT so that question terminology would be compatible with P-3 aircrews. For example, instead of referring to the first pilot and load master the P-3 CMAQ version referred to the Plane Commander and Flight Engineer. Modification of question terminology was done so that original concepts remained intact. The P-3 seminar is not designed to teach directly to the CMAQ survey. Some CMAQ concepts are directly covered by the P-3 seminar, others are indirectly addressed and some are not reviewed at all. Only the portion of the survey designed to measure attitudes, is addressed in this thesis.

The ability to change attitudes is an important measure of the effectiveness of the P-3 ACT seminar. The CMAQ has been widely used in aviation training as a valid measure of attitudes affecting crew coordination. Policy makers can use this CMAQ analysis to guide the future of P-3 ACT. This thesis contributes to the knowledge necessary to direct the future of P-3 ACT.

The fit of ACT as a valuable part of a much larger aviation safety program, can be measured by CMAQ results. Failure of P-3 ACT to provide

useful training would indicate the need for a different approach to imparting crew coordination knowledge. Success of P-3 ACT would indicate that the present seminar format is accomplishing the objective of changing attitudes. An outcome between the two extremes would indicate a need for refining current efforts.

Crew coordination training programs vary according to the needs of an organization and its users. Concepts and methods of instruction can be varied to meet the needs of a group. The P-3's diverse group of crewmembers presents a challenge in developing a course appropriate for all crewmembers. Crewmembers differ by aircrew position, P-3 flight hours, years military, age and other variables. The degree to which the challenge of diversity is addressed can be measured by the uniformity of CMAQ responses.

If P-3 ACT is designed considering aircrew diversity, CMAQ responses will be similar across the groups. If P-3 ACT is less effective for particular subgroups they will respond differently from the norm. To address requirements of a group that responds differently to ACT many options exist. The course could be amended for the entire group. The course could be amended and taught separately for the group with different responses. Lastly, ACT could be discontinued for the group responding below the norm. Ideally, all groups respond the same regardless of their crew position or military background.

G. P-3 AIRCREW COORDINATION TRAINING

This thesis does not represent the first research effort into P-3 Aircrew Coordination Training. John Wilhelm and Robert Helmreich of the University of Texas at Austin prepared a report as part of the NASA-University of Texas cooperative inquiry into Cockpit Research Management Training (Wilhelm, Helmreich, 1990). One aspect of their report, published in March of 1990, analyzed crewmembers' feelings towards ACT as determined by responses to the Cockpit Management Attitudes Questionnaire (Helmreich Wilhelm, Gregorich, 1988). Responses to the following questions and statement were analyzed:

- Overall, how useful did you find the training?
- How important is recurrent training in aircrew coordination?
- ACT has the potential to increase safety and crew effectiveness.
- Will the training change your behavior on the flightdeck? Response options included:
- A Waste of Time
- Slightly Useful
- Somewhat Useful
- Very Useful
- Extremely Useful

90 percent of the participants found the course to be "very useful" or "extremely useful." 80 percent believed recurrent training is "very useful" or "extremely useful." 86 percent agreed strongly with the statement that "ACT has the potential to increase safety and crew effectiveness." 67 percent believed a "moderate" or "large" change in their behavior would occur as a result of the course. The research also included an analysis of participant opinions of each module of the course. Overall, all modules were thought to be useful by the majority of participants. Acceptance of the usefulness of P-3 ACT was established for both officers and enlisted personnel.

In their report Wilhelm and Helmreich provide a positive answer to the question; Will crewmembers have favorable feelings towards the concepts and theory that are the basis for ACT? However, proof that ACT is liked by those who attend is not proof that positive attitude changes have occurred. The next step in the analysis and the purpose of this thesis is to determine if ACT has changed attitudes towards flight safety. Utilizing a section of the CMAQ separate from that used by Wilhelm and Helmreich, perceived attitude changes can be measured. Portions of the Cockpit Management Attitudes Questionnaire are designed to identify the attitude of the person taking the survey. P-3 ACT seminar participants were asked to complete the questionnaire before and immediately after the seminar. Changes in before and after questionnaire responses are indicative of an attitude change. If attitudes can be changed the course is serving its purpose of creating a more safe flying environment for the aircrews.

H. ORGANIZATIONAL/INDIVIDUAL REACTION

1. Resistance to Change

Acceptance of the need for change through ACT requires agreement that past patterns of behavior were less than adequate. P-3 squadrons are heavily tasked with training and operational requirements and can only devote limited time to additional training. Their demanding schedule often requires extended working hours and work on weekends. Participation in ACT may require a crewmember with years of experience and thousands of

mishap free flight hours to add to an already busy work schedule. To achieve ACT goals, resistance to change due to time constraints and other reasons has to be overcome.

The first step in overcoming resistance, is to identify a clear need for change. For ACT, the need for change is a need for preservation of lives and aircraft. This need may not be seen as a high priority for many P-3 crewmembers. The length of P-3 service for the crewmembers surveyed for this thesis was less than 5 years. During their time of P-3 experience, few accidents have occurred. The excellent safety record of the P-3 relative to other Naval aircraft may promote a false sense of security. The ACT program must first establish with participants the need for change based on past mishaps that have occurred and the potential of this program to prevent further mishaps.

The three-step process of crew coordination behavior change requires unfreezing of the present behavior pattern, moving to a new behavior pattern and refreezing desired behaviors (Lewin, 1958). The VP-31 course unfreezes present behavior through education of seminar participants. A review of P-3 and other crew coordination failures that have lead to mishaps, illustrates room for improvement. Movement to new behavior patterns is accomplished via knowledge and skills imparted through facilitators. Refreezing of desired behavior is accomplished through role play exercises where ACT skills are utilized by aircrew and then reviewed on video tape. The participation of senior crewmembers in the role play exercises is key to the acceptance of ACT concepts by junior personnel. Through their participation, senior personnel provide support for the legitimacy of the ACT

concepts. If the three-step change process has been successful new behaviors will be utilized during subsequent flights.

To achieve the change, someone is required to serve as the change agent (Sziligy, Wallace, 1987). The change agent should be someone not bound by tradition, culture or the politics of an organization. This person must offer new ideas, viewpoints and perspectives. The change agent must have support from organizational leadership and be able to gain the trust of those for whom change is required. The change agent for P-3 ACT is Dr. Henry H. Smith of VP-31. As a civilian working for the Navy, Dr. Smith is outside the lines of authority affecting crewmembers. He has been involved in the ACT field of study since 1985. As a retired Navy Captain and an aviator with thirty plus years of experience, he is knowledgeable about flight operations and has sufficient status among aircrews to serve as a change agent for implementing ACT.

Implementation of P-3 ACT has been accomplished with the awareness that resistance to change is expected. The primary means of overcoming resistance is the validity and utility of the material to crewmembers. Change will occur if the material is useful. Also, selection of a credible change agent has provided the best opportunity for course concepts to be heard and understood.

2. The Boomerang Effect

Implementation of ACT into military aviation is not universally supported. For example, a P-3 flight engineer who has accumulated thousands of P-3 hours may not see a need to integrate new ideas into present methods of managing a cockpit. A P-3 ordanceman may feel that his

opportunity to affect safety of flight related scenarios is limited and his opinion is not necessary or desired by the pilot or flight officer. These and other aircrew who attend ACT seminars may have negative reactions to the material presented.

A report on the Negative reaction phenomenon, *When Training Boomerangs* (Helmreich, Wilhelm, 1989), identifies a sub-group likely to have a negative reaction to ACT. The group is distinct not by the experience level or aircraft flown but by the personality type. Via factor analysis of the CMAQ, a group of individuals weak in both instrumental and expressive personality traits were identified. This group was prone to significant negative reaction to CMAQ communication and coordination related questions. ACT course concepts emphasize the importance and necessity of being a vocal and involved member of a crew. For this personality group these concepts conflict with established behavior patterns.

The strength of negative reaction can be influenced by another factor, group dynamics. The effect of group dynamics influenced the degree a seminar was good or bad as seen by participants. A successful ACT seminar requires an engaged, participative crew focused on the material being presented. Many outside influences beyond those that the facilitators control can cause a seminar to fall short of this goal. When a seminar does not captivate the crew, the weak instrumental and expressive personalities are much more likely to reject material being presented. ACT can cause attitudes to shift opposite of the desired direction for a distinct group of individuals.

P-3 ACT Facilitator training identifies the possibility of a negative reaction occurring. Facilitators are trained to identify aircrew who withdraw

from discussion or question the course content. Objections to the course concepts are encouraged to allow discussion among the group. Concepts are presented with "take it or leave it" option. Some will find ACT more useful than others. Even those who feel the course is of no use to them, have agreed that the course is useful to others (Smith, 1992). Boomerang individuals would be indicated in the CMAQ survey results by a shift in attitudes opposite from the desired direction.

The boomerang effect and other effects of ACT can be measured by the CMAQ. How much change has occurred in attitudes of crewmembers can be determined through analysis of CMAQ data. The P-3 ACT data base is a resource for measuring attitudes of those who completed the seminar.

III. DATA AND METHODOLOGY

A. DATA SET

A subset of the CMAQ contains thirty-two questions designed to measure an individual's attitude towards crew coordination issues. For each of 1,200 seminar participants, the CMAQ was administered just prior to and immediately after seminar completion. The sample of 1,200 represents approximately sixty percent of the total population who have completed the seminar. The data were screened based upon the criteria explained in part B of this chapter. The data were collected between June of 1988 and August of 1991.

Survey results were tabulated by Dr. John Wilhelm, University of Texas at Austin, and transferred to the Naval Postgraduate School mainframe computer. The data set has been modified to allow completion of this research. Personality measures and narrative comments have been removed as they are beyond the scope of this report. The data set is now limited to seventy-one response variables for each seminar participant including:

- Thirty-two preseminar attitude responses
- Thirty-two postseminar attitude responses
- Seven aircrew positional/experience demographic information variables

B. FILTERING OF DATA

Once the data file was loaded to the mainframe computer several actions were taken to ensure inaccurate data were filtered out. Data anomalies could

have occurred when surveys were completed, assembled into a data base or by other causes. Data were screened to ensure the analysis could utilize information representative of P-3 aircrews. The following steps were taken to screen the data:

- The CMAQ allows a response range of one through seven. Only those responses within this range were considered.
- Observations with missing values in the survey responses were not considered in the analysis.
- Number of hours with assigned crew was limited to 2000.
- Number of P-3 flight hours was limited to 10,000.
- Maximum age respondents was limited to a maximum of 45.
- Years in military service was limited to a maximum of 25.

Limiting of responses by the above standards is intended to provide a population sample most representative of P-3 aircrews assigned to squadrons at the time the surveys were completed. Initially, 1,200 observations were screened to determine their utility for analysis. After application of the previously explained measures, the group was narrowed to 573 observations. The primary reason for exclusion in the analysis is failure to correctly fill out the survey. CMAQ responses out of the 1-7 allowable range and demographic data not consistent with reasonable crewmember profiles eliminated some from inclusion. Seminar facilitators labeled some seminars as particularly bad. No effort was made to screen out seminars based upon the level of success measured by the facilitator's evaluation. By including both good, bad and average seminars the analysis should reflect the overall program effects.

C. RESPONDENT DEMOGRAPHIC INFORMATION

The survey respondents represent the current pool of personnel the Navy has assigned operating P-3 aircraft in active duty squadrons. Variation in the demographic information is caused by organizational factors. All crew have differences in levels of experience based upon the years in the service and years of flying duty. Table 4.1 provides data on the respondents grouped by crew position. For each crew position provided are: hours assigned to crew (HRSCR), hours of P-3 flying (HRSP3), total flight hours (FLTHR), years of military service (YRSMIL), and age (AGE).

TABLE 3.1 DEMOGRAPHIC DATA FOR PERSONNEL INCLUDED IN CMAQ ANALYSIS

	AV	AVERAGE VALUES BY CREW POSITION				
POSITION	HRSCR	HRSP3	FLTHR	YRMIL	AGE	
PLANE CMDR.	195	1544	2106	8.9	34	
SECOND PILOT	242	555	892	5.0	31	
THIRD PILOT	97	240	433	3.5	28	
FLIGHT ENGR.	316	2416	2579	10.9	29	
NAVIGATOR	162	630	829	5.3	29	
TACTICAL COORD.	188	1544	1700	7.8	33	
SENSOR 1	290	1664	1766	8.1	28	
SENSOR 2	150	694	633	4.3	26	
SENSOR 3	283	1562	1695	6.1	28	
INFLIGHT TECH.	333	1192	1160	6.6	30	
ORDINANCE	345	1091	1152	5.8	27	
GROUP AVERAGE	244	1360	1562	7.2	30	

AVERAGE VALUES BY CREW POSITION

Source: Data derived from the P-3 CMAQ survey.

D. HYPOTHESIZED ATTITUDE CHANGE MODEL

This report will determine if attitude changes have occurred as measured by the pre and post seminar CMAQ. Figure 3.1 provides a model of the process utilized to conduct this analysis. Initial seminar responses indicate preseminar attitudes towards concepts that make-up each CMAQ question. Initial predisposition is a result of an individual's knowledge, attitudes and skill. Individuals are predisposed to certain attitudes as a result of experiences in the past. A difference in the responses indicates effects of ACT training on the respondent. The frequency and significance of changes in responses may reveal patterns associated with a particular CMAQ questions or a group of respondents.

POST-SEMINAR		PRE-SEMINAR		CHANGE
ATTITUDE	-	ATTITUDE	=	CAUSED
RESPONSE		RESPONSE		BY ACT

Figure 3.1 Hypothesized Measure of Attitude Change

ACT seminar discussion is designed to create an increased awareness of crew coordination issues and promote a self-examination of existing attitude sets. Desirable and undesirable attitudes are explained by facilitators and demonstrated in role play activities. ACT is intended to reinforce desirable attitudes and eliminate undesirable tendencies. Participants who discover in themselves an undesirable attitude trait have a choice of reactions. The desirable reaction is for the individual to change his attitude to be more consistent with effective crew coordination. All phases of the seminar address attitudes either directly or indirectly through concepts taught. The seminar is designed to cause change in attitudes where change is necessary.

Immediately following the seminar, before the participants depart, the CMAQ is re administered. CMAQ responses now become a measure of the attitude set an individual started the seminar with modified by changes caused by ACT. This report is focused on identifying changes that have taken place as a result of ACT.

E. ANALYTICAL PROCEDURES

1. Hypothesis Tests For Means of Paired Samples

An examination of changes in attitudes as measured by the CMAQ was conducted to determine changes caused by ACT. Thirty-two preseminar and postseminar CMAQ responses were compared for the group and for subgroups of respondents. Analyses included input only from those respondents not screened out by methods explained earlier in this report. T-tests applied to preseminar and postseminar responses were used to determine if changes in attitudes had taken place and if the changes were statistically significant. T-tests by aircrew position were used to determine if ACT was more effective for particular subgroups.

Preseminar and postseminar CMAQ scores are paired samples. By pairing the samples an accurate measurement of seminar effects can be obtained (Weiss, Hassett, 1991). The difference between the two responses is the paired difference and is defined as:

•
$$d = x_2 \cdot x_1$$

where,

• x_2 = postseminar and x_1 = preseminar response

The null hypothesis for the T-test analysis is that the difference between paired samples is zero. The alternative hypothesis is that the difference is greater than or less than zero. A significant change away from zero in the desired direction, indicates an attitude change has occurred. The null (H_0) and alternative (H_a) hypotheses are defined as:

- $H_0: \mu 1 = \mu 2$
- $H_a: \mu 1 > \mu 2$ or $\mu 1 < \mu 2$

By evaluating whether a change in response has occurred at the 5 percent significance level, the standard by which an attitude change has occurred is determined. The t-tests applied were one tailed. The direction of the desired attitude shift is dependent upon the CMAQ question. Questions for which a positive shift is desired were right tailed. Questions for which a negative shift is desired were left tailed. Both tests were done at the 5 percent significance level as signified by:

• $\mu = .05$

For this analysis, the significance level of 5 percent was used to determine if the null hypothesis was accepted or rejected. Testing at the 5 percent level is a commonly used value although more or less stringent criteria can be applied. When all participants were analyzed together the critical value of t is 1.645. For subgroups of twenty-nine or less the critical value increases. In this thesis group size exceeded twenty-nine for all groups allowing the same critical value to be used for all t-test analyses. The critical value is:

• $t_{0.05} = 1.645$ if n > 29

A hypothesis test can be completed utilizing the mean of the paired differences, the standard deviation of the paired differences and a sum of observations utilized. The result of the relationship of these variables is a test statistic that can be compared against the critical value. If the test statistic does not exceed the critical value the null hypothesis is accepted. If the test statistic exceeds the critical value the null hypothesis is rejected. The test statistic is determined by:

•
$$t = \frac{d}{s_d/n}$$
.

2. Correlation Analysis

A correlation analysis of changes in survey responses and demographic data was used to indicate the relationship between these variables and the responses given. Years of flying and military experience may correlate with an increased or decreased acceptance ACT concepts. Correlation analysis can detect any linkage between CMAQ responses and flight hours, P-3 experience, age and years of military service. The Pearson product moment correlation coefficient is used to provide the level of correlation between CMAQ responses and individual characteristics (Weiss, Hassett, 1991). The value of the correlation coefficient (*r*) will lie between -1 and 1. Values close to -1 or 1 indicate strong correlation. Values close to zero indicate weak correlation. Correlations were computed via the following formula:

•
$$r = \frac{S_{xy}}{S_{xx}S_{yy}}$$

where

•
$$S_{xx} = \sum x^2 - (\sum x)^2 / n$$

- $S_{xy} = \sum xy (\sum x) (\sum y) / n$
- $S_{yy} = \sum y^2 (\sum y)^2 / n$

Correlation analysis can identify strengths or weaknesses in ACT training. If certain attributes of entering experience or qualification level affect ACT outcomes, those attributes will result in exceptional correlation scores. Correlation analysis should indicate the effectiveness of training for different sub-groups of participants.

IV. RESULTS AND DISCUSSION

This section describes the results of the analyses undertaken to determine if attitude changes occurred as a result of ACT for P-3 aircrews. The primary research objective is to apply statistical analysis techniques to the CMAQ data base and interpret results. Results for group and sub-groups therein will be determined.

A. T-TEST ANALYSIS

Before and after seminar survey responses are the focus of this thesis. Table 4.1 presents analysis results of preseminar and postseminar responses for the entire group of respondents. Results for sub-groups by aircrew position are in appendix B (1-11). Differences between responses before and after the seminar are indicative of attitude changes. For half of the CMAQ responses (Questions 2,3,4,6,7,8,10,12,14,15,16,20,21,22,23,28) a positive value shift in survey response is desirable. For other survey responses (Questions 1,5,9,11,13,17,18,19,24,25,26,27,29, 30,31,32) a negative value shift is the desired outcome. The difference in the desired direction is caused by survey question wording. Some questions evaluate concurrence with desirable attitudes, others evaluate level of disagreement with undesirable tendencies. This analysis will focus on changes in survey responses to evaluate their frequency and significance. The analysis is conducted for the entire group and for subgroups.

T-tests of the difference between the thirty-two preseminar and postseminar CMAQ responses indicate attitude changes caused by ACT.

Where the test statistics did not exceed the critical value no change in attitude was judged to have occurred. When the test statistics exceeded the critical value an attitude change was judged to have occurred. For each individual thirty-two possible changes could have occurred on the CMAQ. Based on the 5 percent significance level standard the total number of changes occurring was determined. Three possible outcomes existed for each CMAQ response:

- An attitude shift in the desired direction
- No attitude change
- An attitude change opposite the desired direction

Table 4.1 provides the combined t-test results for all crew positions grouped together. The combined t-test is useful for determining the impact of ACT on the group as a whole. The methodology used to attain the results in table 4.1 is explained in chapter III section E of this report. The last column in table 4.1 indicates the probability value and whether or not the value was significant.

TABLE 4.1 GROUP CMAQ PRESEMINAR (X1) AND POSTSEMINAR (X2)

SURVEY MEANS, CHANGE, T VALUE AND T-TEST RESULTS

CMAQ	X1	X2	IDEAL	ACTUAL	Т	PROBABILITY
	MEAN	MEAN	SHIFT	CHANGE	VALUE	VALUE
1	4.40	3.68	-	717	11.943	.0001 *
2	5.67	5.95	+	.283	5.500	.0001 *
3	5.57	5.96	+	.391	7.940	.0001 *
4	4.36	4.30	+	067	1.001	.3171
5	5.34	4.46	-	869	10.642	.0001 *
6	6.02	6.27	+	.248	6.013	.0001 *
7	6.73	6.76	+	.033	1.369	.1716
8	5.58	6.07	+	.476	10.417	.0001 *
9	5.82	5.30	-	519	9.634	.0001 *
10	6.32	6.46	+	.136	3.660	.0003 *
11	3.28	2.42	-	855	10.625	.0001 *
12	5.75	5.96	+	.216	4.987	.0001 *
13	4.32	4.41	-	.089	1.428	.0001 *
14	5.02	6.03	+	1.016	14.717	.0001 *
15	2.85	2.90	+	.065	0.848	.3966
16	5.97	6.38	+	.395	8.290	.0001 *
17	4.11	3.83	-	276	4.568	.0001 *
18	2.18	2.26	-	.080	1.392	.1645
19	2.40	2.25	-	148	2.364	.0184 *
20	5.41	6.04	+	.640	9.961	.0001 *
21	6.51	6.66	+	.150	4.437	.0001 *
22	5.95	6.33	+	.377	7.937	.0001 *
23	5.82	6.13	+	.317	5.989	.0001 *
24	4.15	3.61	-	543	7.949	.0001 *
25	5.05	4.87	-	185	3.167	.0016 *
26	4.78	4.57	-	200	2.752	.0061 *
27	1.90	1.87	-	035	0.670	.5031
28	6.22	6.48	+	.260	5.394	.0001 *
29	2.08	1.72	-	361	7.101	.0001 *
30	2.48	2.24	-	240	4.532	.0001 *
31	2.02	1.72	-	297	5.708	.0001 *
32	1.22	1.24	-	.016	0.651	.5154

Source: Data derived from the P-3 CMAQ surveys.

* Indicates desirable attitude change occurred.

The combined group t-test indicated 25 desirable CMAQ changes out of 32 possible. Utilizing the entire group for the test, provides a much higher number of indicated attitude changes as compared to t-tests by sub-group. The higher number is caused by the combined effect of the group. A slight though insignificant change in attitude for a sub-group may become a significant change when all the groups share the same slight change in attitude. 25 out of 32 desirable shifts in attitude represent a change on 78 percent of the CMAQ questions.

Table 4.2 provides the T-test results for the entire survey group as indicated by table 4.1 and for sub-groups by aircrew position. Table 4.2 indicates the number of significant attitude changes occurring out of a total of thirty-two possible. Significant changes in attitudes for sub-groups were determined by the same method used in table 4.1 based on the results in appendix B 1-11.

TABLE 4.2 BREAKDOWN OF ATTITUDE CHANGES AS INDICATED BY A

T-TEST OF PRE AND POST ACT SEMINAR CMAQ SURVEYS

CMAQ RESPONSES					
ESIRABLE	NO	UNDESIRABLE			
SHIFTS	CHANGE	SHIFTS			
25	7	0			
16	15	1			
7	25	0			
7	25	0			
16	16	0			
13	19	0			
18	14	0			
10	22	0			
10	22	0			
11	21	0			
14	18	0			
11	21	0			
	CM ESIRABLE SHIFTS 25 16 7 16 13 8 18 10 10 10 11 14 11	CMAQ RESPONSE ESIRABLE NO SHIFTS CHANGE 25 7 16 15 7 25 7 25 16 16 13 19 21 22 10 22 11 21			

Source: Derived from analysis of P-3 CMAQ data.

The results of t-test analyses as displayed in table 4.2 indicate that in many cases the null hypothesis that CMAQ scores are the same after the seminar, can be rejected. The range of significant desirable attitude shifts for all positions is 7 to 18 for the 32 CMAQ questions. A comparison of attitude changes is displayed in figure 4.2.



Figure 4.1 Favorable Changes in CMAQ Attitudes

B. INTERPRETATION OF T-TEST ANALYSIS

The CMAQ is an instrument for measuring concurrence with attitudes conducive to effective crew coordination. The method used to construct the CMAQ has provided a tool for measuring overall crew coordination awareness and potential. It was not designed to directly identify particular strengths or weaknesses in sections of P-3 ACT. The material in P-3 ACT does not directly address questions on the CMAQ. Within each CMAQ question are many crew coordination concepts and issues. Question by question analysis of CMAQ results does not allow a distinct understanding of thirtytwo separate ACT concepts and issues. By looking at the combined CMAQ change for all thirty-two questions the effect of ACT can be seen. The results of the P-3 CMAQ have provided the change in CMAQ scores based on comprehensive change and not a question by question analysis. P-3 CMAQ ttest results have resulted in the formation of three distinct groups. The three sub-groups are identified and explained in the following sections.

1. Sub-group One

Plane Commanders (16), Flight Engineers (16) and Tactical Coordinators (18) had the highest number of attitude shifts resulting from ACT training. A Plane Commander is primarily responsible for the safe completion of a flight. The Tactical Coordinator is responsible for successful completion of a mission. The flight engineer is responsible to the pilot for support in flight safety related issues. Successful completion of all three of these crew assignments is dependent upon effective crew coordination. These results indicate a positive relationship between responsibility for crew coordination and the impact of ACT.

2. Sub-group Two

Figure 4.1 indicates a similar level of attitude changes across sensor station operators, inflight technician and ordnanceman. For this group the average number of attitude response changes was 11.2 indicating that for over one third of the CMAQ responses an improvement on safety attitudes was achieved. During the conduct of a flight these crew positions can occasionally play a critical safety role during a flight. However, for most flights they are more likely to play minor role related to safety issues. To this group, ACT concepts are more likely to reflect a new way of thinking about their roles because their training places less emphasis on crew coordination and safety. This subgroup of the P-3 crew is mainly responsible for mission related aspects. The P-3 ACT course is designed to broaden utility of ACT from flight station personnel to include the all crewmembers. The number of positive shifts occurring in this group supports the ACT principle that crew coordination is everyone's responsibility.

3. Sub-group Three

Second Pilots, Third Pilots and Navigators represent another subgroup of attitude shifts as measured by the CMAQ. A commonalty within this group is the accomplishment of tasks under the immediate direction of others on board the aircraft. The Second and Third Pilots perform their assignments under the immediate direction of the Plane Commander. The Navigator works under the supervision of the Tactical Coordinator. For all three crew positions, tasks, are to be carried out according to guidelines set by the Plane Commander or Tactical Coordinator. Crew coordination development and execution is a lessor role for this group. The lower number of shifts for Second Pilots, Third Pilots and Navigators as compared to their senior counterparts, could be reflective of a lessor crew coordination responsibility and authority.

C. CORRELATION ANALYSIS

Identification of subgroups for whom ACT is more or less effective, would be useful for understanding the effects of ACT. Perhaps ACT is not effective for sensor station operators who are less involved in safety issues. Possibly senior personnel will resist the new concepts and revised thinking that is part of ACT. Previous safety related programs focus on flight station personnel only whereas ACT has brought in all crew positions. Correlations were run on demographic variables and the difference scores between preand post- CMAQ responses. These analyses will help support or dispel these and other questions regarding ACT and its relationship to demographic information included in table 3.1.

Correlation responses fall within a -1.00 to 1.00 range. Any value near these extremes can be evaluated for its implications for seminar design and teaching. Table 4.3 provides a correlation analysis for change in CMAQ score and four demographic variables including: hours assigned to crew (HRSCR), hours of P-3 flying (HRSP3), years of military service (YRMIL) and birth year (AGE) for the all respondents.

TABLE 4.3 CORRELATION OF CMAQ CHANGES AND DEMOGRAPHIC

DATA CORRELATION VALUES

CMAQ CHANGE	HRSCR	HRSP3	YRMIL	AGE
1	.08	.08	02	04
2	.06	04	04	08
3	02	.06	.02	.01
4	.00	.00	.00	.00
5	01	.04	.07	.06
6	06	03	03	.00
7	.00	.00	04	.00
8	01	05	10	10
9	01	01	04	05
10	02	01	02	02
11	10	06	.04	.07
12	01	04	04	.00
13	.02	.00	.03	02
14	.08	06	03	02
15	.03	02	.03	.00
16	.05	.08	.07	.04
17	.05	.01	.05	.03
18	01	.04	.03	.00
19	06	.03	.02	.05
20	.03	02	.00	01
21	.10	.07	.07	.00
22	.06	.01	.01	01
23	04	.07	.08	.08
24	.03	.01	.06	.03
25	.05	.03	.09	.06
26	01	.04	.00	02
27	.03	.08	.02	.00
28	02	06	07	.06
29	03	.05	.07	.02
30	.00	08	02	03
31	07	03	.05	.05
32	.01	01	.00	.02

Source: Derived from analysis of P-3 CMAQ data.

No significant correlation exists between CMAQ response changes and the demographic variables as displayed in table 4.3. The highest correlation value in table 4.3 is .10. Even the highest value does not identify any strong correlation between attitude change and the demographic variables included in the analysis.

D. INTERPRETATION OF CORRELATION ANALYSIS

The CMAQ was not specifically designed to allow correlation of individual background data and changes in attitudes. Inability of the CMAQ to indicate correlation of individual data and changes in CMAQ response does not mean that another survey instrument could not demonstrate this relationship. Correlation of hours assigned to crew, P-3 flight hours, years in the military and age with the relatively small average change in CMAQ responses results in low correlation values. For all but one of the thirty-two CMAQ questions the average change in survey response was less than 1.0 for the group analyzed (table 4. 1). The small range of average change in survey response offers minimum opportunity for establishing a correlation with CMAQ score and the demographic variables used in the analysis. Based upon the change in CMAQ response that did occur, no significant correlation existed between change in response and individual characteristics.

Correlation analysis indicates CMAQ response is not a function of P-3 flight experience, hours assigned to a crew, years military, and age. Lack of strong correlation (table 4.3) indicates these variables do not significantly affect responses to the CMAQ. Attitude changes could not be predicted by an individual's experience level. Based on the correlation analysis, aircrew of

different experience levels react similarly to ACT. No experience level group is reacting significantly better or worse to the seminar. No change in the way ACT is designed or instructed is needed based upon years in the military, age, hours on a crew or P-3 flight hours.

VI. CONCLUSIONS AND RECOMMENDATIONS

A. CONCLUSIONS

1. CMAQ T-test Results

P-3 ACT was successful in improving the attitudes of crewmembers who attended the seminar. The present format of the seminar is creating an understanding of attitudes necessary for effective crew coordination. Based on knowledge attained in the seminar, crewmembers are changing their CMAQ responses. The t-test results do provide evidence that attitudes are changing. P-3 CMAQ results indicate that movement away from attitudes that have caused mishaps in the past. Further, movement on CMAQ responses is substantial and is occurring for all crew positions. Additional analyses using the same methodology could provide a basis for evaluating the P-3 seminar relative to other programs.

Some differences existed by crew position in the number of changes that occurred on the CMAQ (table 4.2). Crewmembers in leadership roles were most likely change their attitudes as a result of ACT. Those less involved in managing crew coordination activity were less likely to indicate an attitude change. The value of ACT seems to be most appreciated by those who are normally responsible for implementing ACT concepts. Changes away from desirable crew coordination attitudes are not evident in the CMAQ analysis.

2. CMAQ Correlation Results

The existing course content and seminar format are uniformly effective across aircrew experience levels. The correlation analysis (table 5.2) fails to identify any anomalies associated with CMAQ response and the crewmember demographic variables. The seminar does not teach to a particular experience level group at the expense of others. Hours of P-3 flying, hours assigned to crew, years in the military and age were not useful in predicting changes in attitudes. The correlation analysis supports the concept of bringing in an intact combat aircrew for the seminar.

By attending ACT as a combat crew, a group attitude may be formed towards crew coordination. The group attitude towards ACT may result from the combined effects of individual attitudes. The group coordination attitude is important as the group will encounter challenges together. Knowledge of an individual member's attitude towards crew coordination can be used to make the group more effective under challenging flight scenarios. This analysis supports the present scheduling by complete combat aircrew as opposed to by aircrew position.

3. **Program Effectiveness**

P-3 ACT has substantive indications of being an effective program as measured by outcome, process and moderator criteria. Indicators include: CMAQ attitude changes, avoidance of a mid-air collision (Smith, 1992) and continued high-level organizational support. P-3 flight manuals now include ACT as a critical sub-area for success on the annual flight evaluation. To be designated as a qualified crewmember, crew coordination proficiency must be demonstrated. Integration of ACT into flight evaluations is an

indication of commitment to the program. The substantial dedication of resources over several years has allowed program development and implementation. Continued implementation of ACT will eventually allow the necessary time to evaluate ACT effects on P-3 mishap rates. In time the benefit of ACT could be put in terms of number of lives and aircraft saved.

B. IMPLICATIONS

The Naval Safety Center has identified crew coordination error as the number one causal factor in Naval Aviation mishaps. An increase in effective crew coordination capability creates the potential for reduction of crew coordination related mishaps. The P-3 ACT course is capable of improving crew coordination attitudes as measured by the CMAQ. Eventually a reduction in P-3 crew coordination related mishaps should occur if attitude changes seen here transfer to behavior changes on the job. An accurate measure of this reduction can only be made after sufficient time has taken place to account for the chance element that is present in tracking the occurrence of mishaps.

C. RECOMMENDATIONS

The initial analysis of the P-3 program completed in 1990 by Wilhelm and Helmreich (Wilhelm, Helmreich, 1990), determined that crewmembers believed P-3 ACT training was useful. This thesis indicates that in addition to finding the course useful, crewmembers attitudes are changed in a positive direction by the course. A follow-on thesis could attempt to determine if crew coordination concepts are being utilized.

Use of ACT could be determined by surveying seminar graduates and requesting them to document situations where ACT was used. The feedback from aircrew operators would be valuable in documenting the application of ACT during actual flight operations. Documentation of actual events could allow the determination of the effectiveness of separate ACT modules. The follow-on thesis or report could be constructed of case studies that emphasize the use of ACT during flight operations.

The CMAQ used to analyze the P-3 crewmember responses could be redesigned or expanded to take into account factors unique to Naval Aviation. The CMAQ was designed based on the analysis of civilian aviation incidents. Perhaps a similar study of Naval Aviation mishaps would reveal crew coordination concepts unique to Naval Aviation. A redesigned CMAQ based on crew coordination issues most relevant to Naval Aviation could provide a more useful measure. The present CMAQ is valuable in providing a standardized measure for the effectiveness of crew coordination training. A revised CMAQ modified for Naval Aviation could be used as a standard for crew coordination training.

The CMAQ should be revised so that all questions evaluate concurrence with desirable attitudes. At present the CMAQ measures concurrence with desirable crew coordination attitudes (Questions 2,3,4,6,7,8,10,12,14,15,16,20,21,22,23,28) and disagreement with undesirable attitudes (Questions 1,5,9,11,13,17,18,19,24,25,26,27,29, 30,31,32). Questions could be restructured so that for all questions a desirable shift in attitude occurs in the same direction on the survey scale. Analysis and presentation

of survey data would be more clear if all questions were consistent in evaluating concurrence with desirable attitudes.

The completion of ACT training brings the program to a transition point. The one-day seminar format for P-3 ACT has been presented to all Moffett Field California and Barbers Point Hawaii P-3 squadrons. The decision to continue or discontinue training must be made. If training is continued the new content and format must be determined. Reduced benefit may be realized by attending the same course a second time. A revised version of the course may need to be developed. A longitudinal study could determine the durability of the effects of ACT and the present need for continued training.

Options for continued ACT training include the use of simulator and flight training. Limited flight hours and simulator time make it unlikely that entire events could be exclusively dedicated to ACT training. A practical way of including ACT concepts as an integral part of flight and simulator events is via the evaluators who conduct these events. All P-3 flight crew personnel are required to pass an annual flight evaluation. The evaluators who conduct these events could provide the means for further ACT training. For this to occur, evaluators must first complete a follow-on ACT course that imparts to them a deeper understanding of ACT principles along with the ability to evaluate the crew coordination skills of others. The evaluators could then instruct and evaluate crew coordination as part of every flight or simulator event.

Aircrew Coordination Training is sponsored within the Navy for the purposes of achieving a reduced mishap rate. Avoidance of mishaps in part depends upon effective crew coordination. Effective tactical utilization of the

P-3 aircraft also demands effective crew coordination. The ability of P-3 ACT to enhance the tactical ability of a combat aircrew has not been determined. If ACT equally applies to tactical crew coordination the scope of the course may be expanded to enhance safety and tactical ability.
APPENDIX A. P-3 COCKPIT MANAGEMENT ATTITUDES

UT/NASA/Navy 5-89 QUESTIONNAIRE (CMAQ) P-3 AIRCREW SURVEY

Page 1

-

I. Patrol Crewmember Attitudes

As part of NASA sponsored research, we are collecting data on current attitudes in military operations. This survey measures your thoughts and feelings; it is not an assessment of your learning. All data will remain strictly confidential! The identification number allows us to relate your future surveys to this one.

Please answer by writing beside each item the number from the scale below that best reflects your personal attitude. Note: when we use the words "crew" or "crew members", we mean <u>everyone</u> on the aircraft unless otherwise noted.

******Scale*****

1	2	3	4	5	6	7
Disagree	Disagree ly Mostly	Disagree Somewhat	Neutral	Agree Somewhat	Agree Mostly	Agree Completel
	Strict utiliza crew performan	ation of the nce.	chain of co	mmand is ess	ential for	effective
	Aircrew member psychological before or dury	rs should fee stress or pl ing a mission	el obligated nysical prob	to mention lems to othe	their own r aircrew n	nembers
	It is importan criticism abou	nt for all cr it the proces	rew members lures and te	to provide c chniques of	onstructive others.	2
	I am more prov workload than	ne to make mi I am in rout	inor mistake tine mission	s during per situations.	iods of hi	gh
	The PPC is pri	Lmarily respo	onsible for	the safety o	of each mis:	sion.
	Each crew memb stress or fat: member.	per should mo Igue, and sho	onitor other ould discuss	crew member the situati	s for sign on with the	s of a crew
	Good communica technical prod	ations and cu ficiency for	rew coordina the safety	tion are as of flight.	important a	a s
	Aircrew member problems of of	rs should be ther crew men	aware of an abers.	d sensitive	to the pers	sonal
	The PPC should non-standard	i take contro ituations.	ol and fly t	he aircraft	in emergen	cy and
	The pilot fly or maneuvers a and acknowledg	ing the aircr and should be ged by crew m	aft should sure that members affe	verbalize pl the informat cted.	ans for provide the second sec	ocedures erstood
	Copilots and c actions of the the flight.	other crew me PPC except	embers shoul when these	d not questi actions thre	on the dec: aten the sa	lsions or afety of
	Crew members s overloads.	should alert	others to t	heir actual	or potentia	al work
	Even when fati maneuvers.	lgued, I perf	form effecti	vely during	critical f	light
	PPC's should e members to que emergencies.	encourage cop estion proced	oilots, flig dures during	ht engineers normal flig	, and other ht operatio	crew ons and in
	There are no copilot should	ircumstances assume comm	except to and of the	tal incapaci aircraft.	tation) whe	ere the
	A debriefing a mission is an aircrew coordi	ind critique important pa ination.	of procedur art of devel	es and decis oping and ma	ions after intaining o	each effective

UT/NASA/Navy 5-89

Page 2

1

			and Judie and			
1	2	3	4	5	6	7
Disagree Complete	Disagree ly Mostly	Disagree Somewhat	Neutral	Agree Somewhat	Agree Mostly	Agree Completely
	My performance inexperienced	is not advo or less capa	ersely affec able crew me	ted by workin mber.	ng with an	
	Overall, succe the aircraft of	commander's	on accomplis flying profi	hment is prin ciency.	marily a fu	unction of
	Correcting the since it can 1	e procedures lead to tens:	and techniq ions between	ues of other: crew member:	s should be s.	e avoided
	Crew members s decisions which	should voice th have alree	their conce dy been made	rns even if (they are co	ontrary to
	The pre-missic effective crew	on aircrew by w management	riefing is i	mportant for	safety and	d for
	Effective crew account the pe	coordinatio coordinatio	on requires of other cr	crew members ew members.	to take in	nto
	All crew membe activities in	ers should sh high worklos	nare respons ad situation	ibility for p s.	prioritizi	ng
	A truly profes behind when fl	sional airci lying a missi	rew member c. Lon.	an leave per:	sonal prob	lems
	My decision ma mission situat	king ability	y is as good	in emergenc:	les as in m	routine
	Training selds accomplishment	om interfere:	s with safe	and effective	e mission	
	Leadership of PPC.	the aircrew	team is exp	ected to com	e solely f	rom the
	Enlisted crewn by the flight	embers' que: deck.	stions and s	uggestions sl	nould be co	onsidered
	When joining a offer suggesti	crew for the	ne first tim lons unless	e, a new crev asked.	w member sl	hould not
	It is better t rather than of	to let someon fering what	ne do their you believe	job the way to be a bet	they are un ter solution	sed to on.
	Because flight their attention	t engineers h on to airplan	nave no pilo ne systems.	t training, 1	they should	d limit
	PPCs who acceptheir stature	and implement	ent suggest g their auth	ions from the ority.	e crew are	lessening

÷

APPENDIX B-1. T-TEST RESULTS FOR CMAQ RESPONSES

TABLE B-1. PLANE COMMANDER T-TEST RESULTS

----- POSIT=1 ------

7

Variable	N	Mean	Std Error	T	Prob> T
QDIFF1	96	-0.813	0.138	-5.906	0.0001
QDIFF2	96	0.292	0.099	2.939	0.0041
QDIFF3	96	0.271	0.120	2.260	0.0261
QDIFF4	96	-0.083	0.142	-0.588	0.5581
QDIFF5	95	-1.147	0.183	-6.261	0.0001
QDIFF6	96	0.219	0.093	2.359	0.0204
QDIFF7	96	0.042	0.051	0.815	0.4171
QDIFF8	96	0.354	0.104	3.417	0.0009
QDIFF9	96	-0.573	0.137	-4.178	0.0001
QDIFF10	96	0.125	0.080	1.561	0.1219
QDIFF11	96	-0.573	0.163	-3.506	0.0007
QDIFF12	96	0.167	0.086	1.940	0.0554
QDIFF13	96	-0.073	0.155	-0.471	0.6387
QDIFF14	95	0.863	0.133	6.505	0.0001
QDIFF15	95	0.105	0.167	0.630	0.5299
QDIFF16	95	0.400	0.123	3.256	0.0016
QDIFF17	96	-0.385	0.160	-2.413	0.0178
QDIFF18	96	-0.010	0.109	-0.095	0.9243
QDIFF19	96	-0.063	0.109	-0.575	0.5664
QDIFF20	96	0.708	0.125	5.680	0.0001
QDIFF21	96	0.115	0.089	1.292	0.1995
QDIFF22	96	0.156	0.110	1.419	0.1593
QDIFF23	96	0.458	0.126	3.625	0.0005
QDIFF24	96	-0.396	0.151	-2.628	0.0100
QDIFF25	96	-0.021	0.132	-0.158	0.8746
QDIFF26	95	-0.053	0.173	-0.305	0.7614
QDIFF27	96	-0.052	0.103	-0.506	0.6142
QDIFF28	96	0.083	0.090	0.929	0.3551
QDIFF29	96	-0.281	0.135	-2.088	0.0394
QDIFF30	96	-0.125	0.114	-1.097	0.2756
QDIFF31	96	-0.094	0.099	-0.943	0.3481
QUIFF32	96	0.115	0.059	1.942	0.0551

. .:

TABLE B-2. SECOND PILOT T-TEST RESULTS

.

 		PI	DSIT=2		
Variable	N	Mean	Std Error	T	Prob> T
Variable QDIFF1 QDIFF2 QDIFF3 QDIFF5 QDIFF6 QDIFF7 QDIFF7 QDIFF10 QDIFF12 QDIFF12 QDIFF13 QDIFF14 QDIFF15 QDIFF16 QDIFF17 QDIFF20 QDIFF22 QDIFF23 QDIFF23 QDIFF24 QDIFF25 QDIFF26 QDIFF27 QDIFF28	N 23 23 23 23 23 23 23 23 23 23 22 23 22 22	Mean -0.870 0.174 0.522 0.522 -0.435 0.304 0.000 0.348 -0.565 -0.136 0.087 0.478 0.304 1.182 0.045 0.136 -0.478 0.261 0.130 0.727 0.130 0.727 0.130 0.391 -0.783 -0.348 -0.566 -0.130 0.727 0.130 0.727 0.130 0.391 -0.727 -0.304 0.000 0.304 -0.565 -0.130 0.1727 0.130 0.130 0.1727 0.130 0.130 0.391 -0.727 -0.304 0.000 0.304 -0.565 -0.130 0.130 0.1727 0.130 0.130 0.130 0.130 0.130 0.391 -0.727 -0.304 0.000 0.304 -0.565 -0.136 -0.136 -0.136 -0.136 -0.136 -0.130 0.130 0.130 0.130 0.130 0.391 -0.727 -0.304 -0.304 -0.304 -0.304 -0.300 0.130 0.391 -0.727 -0.304 0.000 0.304 -0.30	Std Error 0.363 0.279 0.266 0.258 0.506 0.171 0.089 0.195 0.287 0.119 0.503 0.226 0.347 0.346 0.392 0.136 0.349 0.191 0.334 0.349 0.191 0.334 0.349 0.191 0.334 0.349 0.114 0.349 0.114 0.259 0.259 0.259 0.324 0.256 0.284 0.256	T -2.397 0.624 1.963 2.021 -0.859 1.775 0.000 1.785 -1.970 -1.142 0.173 2.121 0.877 3.417 0.116 1.000 -1.369 1.367 0.390 2.082 1.141 0.768 1.768 1.768 1.768 1.768 1.768 1.744 -3.023 -1.073 -2.837 -1.071 0.000 0.000 0.000 0.369 0.367 0.369 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.367 0.000 1.142 0.168 1.768 1.071 0.0000 0.000 0.00000 0.0000 0.0000 0.0000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000 0.00000000	Prob> T 0.0255 0.5390 0.0624 0.0557 0.3996 0.0897 1.0000 0.0881 0.0616 0.2664 0.8642 0.0455 0.3897 0.0026 0.9088 0.3287 0.0026 0.9088 0.3287 0.1848 0.1855 0.7003 0.0497 0.2660 0.4509 0.0497 0.2660 0.4509 0.0497 0.2660 0.4509 0.0951 0.0095 0.0099 0.2958 1.0000 0.2651
QDIFF29 QDIFF30 QDIFF31 QDIFF32	23 23 23 23	-0.304 -0.130 -0.043 0.043	0.255 0.211 0.172 0.076	-1.194 -0.617 -0.253 0.569	0.2451 0.5435 0.8027 0.5753

ŧ

ί

TABLE B-3. THIRD PILOT T-TEST RESULTS

----- POSIT=3 ------

UC LLING (VEDUCIE)

Variable N Mean Std Error Т Prob>|T| ------------_____ QDIFF1 34 QDIFF2 34 QDIFF3 34 QDIFF3 34 QDIFF5 34 QDIFF5 34 QDIFF6 34 QDIFF6 34 QDIFF7 34 QDIFF7 34 QDIFF9 34 QDIFF9 34 QDIFF10 34 QDIFF11 34 $\begin{array}{c} -1.000\\ 0.176\\ 0.441\\ -0.176\\ -0.971\\ 0.265\\ -0.118\\ 0.182\end{array}$ -4.476 1.643 2.520 -0.783 0.223 0.0001 0.107 0.1098 0.175 0.225 0.314 0.0167 0.4390 -3.086 0.0041 1.358 0.195 0.1836 0.2107 0.092 1.063 0.182 0.171 0.2959 -0.882 0.188 -4.701 0.0001 0.161 -0.183-0.029 0.8559 -2.342 1.314 -0.124 3.177 34 -0.735 0.206 QDIFF11 0.314 0.0254 0.157 QDIFF12 34 0.1980 0.237 0.9019 QDIFF13 34 -0.029 QDIFF14 32 0.906 0.285 3.177 0.0034 QDIFF15 0.815 32 0.219 0.268 0.4213 QDIFF16 32 0.281 0.197 1.428 0.1632 -0.500 -1.890 QDIFF17 34 0.265 0.0675 0.286 0.221 0.270 0.8384 34 -0.206 0.797 QDIFF18 -0.059 QDIFF19 34 0.176 0.4309 QDIFF20 34 0.6654 0.118 0.436 QDIFF21 34 -0.029 0.099 -0.297 0.7680 QDIFF22 0.154 34 0.265 1.719 0.0951 0.257 QDIFF23 34 0.412 1.601 0.1189 -0.471 0.0882 QDIFF24 34 0.268 -1.757 -1.221 QDIFF25 34 -0.353 0.289 0.2308 -1.614 0.274 QDIFF26 33 -0.364 0.225 0.1165 0.215 QDIFF27 34 0.059 0.7861 QDIFF28 33 0.119 2.545 0.0159 0.303 0.179 QDIFF29 34 -0.353 -1.977 0.0565 34 0.029 0.206 0.8384 QDIFF30 0.143 QDIFF31 34 -1.646 0.1093 -0.206 0.125 QDIFF32 34 -0.029 0.067 0.6615 _____ _____ _____

8

í

TABLE B-4. FLIGHT ENGINEER T-TEST RESULTS

----- POSIT=4 -----

;

Variable	N	Mean	Std Error	ТТ	Prob> T	
Variable QDIFF1 QDIFF2 QDIFF3 QDIFF5 QDIFF5 QDIFF6 QDIFF7 QDIFF8 QDIFF10 QDIFF10 QDIFF12 QDIFF12 QDIFF13 QDIFF14 QDIFF15 QDIFF17 QDIFF18 QDIFF17 QDIFF18 QDIFF20 QDIFF22 QDIFF22 QDIFF22 QDIFF22 QDIFF25 QDIFF26 QDIFF27 QDIFF28	N 633 6633 66333 66333 66333 66333 664 663333 664 66666666	Mean -0.444 0.048 0.349 -0.254 -0.762 0.032 0.016 0.317 -0.603 -0.127 -0.492 .0.238 0.460 0.672 0.213 0.426 -0.032 0.333 -0.063 0.587 0.317 0.413 0.571 -0.397 -0.206 0.048 -0.032 0.397	Std Error 0.182 0.162 0.235 0.269 0.104 0.089 0.126 0.144 0.110 0.223 0.127 0.184 0.237 0.197 0.16 0.207 0.223 0.207 0.199 0.110 0.223 0.207 0.199 0.110 0.225 0.129 0.162	$\begin{array}{c} & & & & \\ & -2.440 \\ & & & & & \\ 0.293 \\ & & & & & \\ 2.322 \\ & -1.080 \\ & & & & \\ -2.828 \\ & & & & & \\ 0.306 \\ & & & & & \\ 0.527 \\ & -4.187 \\ & & & & \\ -1.158 \\ & & & & \\ 2.527 \\ & & & & \\ -4.187 \\ & & & & \\ -1.158 \\ & & & \\ 2.507 \\ & & & & \\ 2.837 \\ & & & \\ 1.081 \\ & & & \\ 3.687 \\ & & & \\ -0.306 \\ & & & & \\ 2.946 \\ & & & & \\ 2.874 \\ & & & \\ 3.193 \\ & & & \\ 3.241 \\ & & & \\ -2.103 \\ & & & \\ 3.241 \\ & & & \\ -2.103 \\ & & & \\ 3.241 \\ & & & \\ -2.103 \\ & & & \\ 3.241 \\ & & & \\ -2.103 \\ & & & \\ 1.86 \\ & & & \\ -0.261 \\ & & & \\ 2.443 \end{array}$	Prob> T 0.0175 0.7702 0.0235 0.2843 0.0063 0.7603 0.0141 0.0001 0.2514 0.0001 0.2514 0.0001 0.2514 0.0005 0.8788 0.1398 0.7603 0.0045 0.0045 0.0045 0.0055 0.0022 0.00195 0.2071 0.8527 0.7952 0.0174	
QDIFF28 QDIFF29 QDIFF30 QDIFF31 QDIFF32	63 63 63 63	-0.079 -0.413 -0.206 -0.032	0.102 0.107 0.139 0.107 0.068	-0.743 -2.973 -1.937 -0.468	0.4605 0.0042 0.0573 0.6411	

\$

ί

TABLE B-5. NAVIGATOR T-TEST RESULTS

i

 		F	OSIT=5			
M	N	Marai		.	0 1 1 1 7 1	
variable	N 	nean	Std Error	ا 	Prob>[1]	
Variable QDIFF1 QDIFF2 QDIFF3 QDIFF5 QDIFF6 QDIFF6 QDIFF6 QDIFF7 QDIFF8 QDIFF10 QDIFF11 QDIFF12 QDIFF13 QDIFF14 QDIFF15 QDIFF16	N 33 33 33 33 33 33 33 33 33 33 33 33 32 32	Mean -0.515 0.242 0.515 -0.394 -0.758 0.727 0.000 0.394 -0.576 0.333 -0.636 0.515 0.4555 1.438 -0.031 0.250	Std Error 0.302 0.261 0.218 0.265 0.292 0.227 0.138 0.179 0.246 0.198 0.245 0.175 0.279 0.269 0.279 0.269 0.349 0.238	$\begin{array}{c} & -1.706 \\ & 0.928 \\ & 2.362 \\ & -1.489 \\ & -2.594 \\ & 3.200 \\ & 0.000 \\ & 2.199 \\ & -2.338 \\ & 1.685 \\ & -2.592 \\ & 2.948 \\ & 1.629 \\ & 5.340 \\ & -0.089 \\ & 1.052 \end{array}$	Prob> T 0.0976 0.3603 0.0244 0.1462 0.0142 0.0031 1.0000 0.0352 0.0258 0.1017 0.0143 0.0059 0.1130 0.0001 0.9293 0.3008	
QDIFF17 QDIFF18 QDIFF20 QDIFF21 QDIFF22 QDIFF23 QDIFF24 QDIFF25 QDIFF26 QDIFF27 QDIFF28 QDIFF28 QDIFF29 QDIFF31 QDIFF32	33 33 33 33 33 33 33 33 33 33 33 33 33	$\begin{array}{c} -0.364\\ 0.364\\ -0.545\\ 0.970\\ 0.152\\ 0.576\\ 0.455\\ -0.273\\ -0.091\\ -0.424\\ 0.182\\ 0.182\\ -0.333\\ -0.182\\ -0.576\\ 0.091\\ \end{array}$	0.199 0.194 0.185 0.211 0.138 0.180 0.200 0.239 0.262 0.282 0.119 0.160 0.193 0.119 0.238 0.110	-1.831 1.877 -2.947 4.598 1.094 3.206 2.274 -1.139 -0.346 -1.504 1.530 1.139 -1.727 -1.530 -2.414 0.828	0.0764 0.0697 0.0059 0.2820 0.0298 0.2632 0.7313 0.1425 0.1358 0.2632 0.2632 0.1358 0.2632 0.1358 0.2632 0.0938 0.1358 0.0217 0.4138	

.

1.0

. 1

TABLE B-6. TACTICAL COORDINATOR T-TEST RESULTS

		P	0SIT=6			
		1	0511-0			
Variable	N	Mean	Std Error	T	Prob> T	
QDIFF1	66	-1.076	0.166	-6.469	0.0001	
QDIFF2	66	0.121	0.137	0.882	0.3810	
QDIFF3	66	0.591	0.146	4.036	0.0001	
QDIFF4	66	0.030	0.208	0.146	0.8847	
QDIFF5	66	-0.788	0.261	-3.015	0.0037	
QDIFF6	66	0.333	0.115	2.900	0.0051	
	66	0.030	0.081	0.3/5	0.7085	
QDIFFO	66	0.500	0.117	4.202	0.0001	
QD1FF9	60	-0.697	0.155	-4.300	0.0001	
QDIFFI0	66		0.139	2.010	0.0112	
ODIFF12	66	0.773	0.200	2 181	0.0004	
ODIEE13	66	0.275	0.125	1 600	0.0528	
QDIFF14	64	1 141	0.215	5 314		
QDIFF15	64	-0.391	0.215	-1.813	0.0746	
QDIFF16	65	0.308	0.095	3.226	0.0020	
QDIFF17	66	-0.273	0.147	-1.851	0.0687	
QDIFF18	66	-0.106	0.132	-0.806	0.4231	
QDIFF19	66	0.061	0.158	0.382	0.7034	
QDIFF20	66	0.939	0.210	4.467	0.0001	
QDIFF21	66	-0.030	0.103	-0.293	0.7706	
QDIFF22	66	0.258	0.139	1.856	0.0680	
QDIFF23	66	0.303	0.205	1.480	0.1438	
QDIFF24	66	-0.773	0.208	-3.715	0.0004	
QDIFF25	65	-0.446	0.177	-2.523	0.0141	
QDIFF26	65	-0.169	0.210	-0.807	0.4229	
QDIFF2/	66	0.030	0.099	0.306	0.7602	
QDIFF28	66	0.303	0.114	2.654	0.0100	
QUIFF29	60	-0.439	0.145	-2.063	0.0052	
ODIEESI	66	-0.576	0,150	-3 504	0.0042	
	66	-0.061	0.100	-0 664	0 5001	
UTII JC		0.001	0.071	0.004	0.5071	

í

TABLE B-7. SENSOR ONE T-TEST RESULTS

;

.

14

í

TABLE B-8. SENSOR TWO T-TEST RESULTS

ż

		- POSIT=8		
Variable	N Mean	Std Error	т	Prob> T
Variable QDIFF1 QDIFF2 QDIFF3 QDIFF3 QDIFF3 QDIFF5 QDIFF6 QDIFF7 QDIFF7 QDIFF7 QDIFF10 QDIFF12 QDIFF13 QDIFF14 QDIFF12 QDIFF13 QDIFF14 QDIFF15 QDIFF14 QDIFF15 QDIFF14 QDIFF15 QDIFF14 QDIFF15 QDIFF14 QDIFF15 QDIFF14 QDIFF15 QDIFF12 QDIFF12 QDIFF20 QDIFF21 QDIFF23 QDIFF24 QDIFF25 QDIFF27 QDIFF28 QDIFF29 QDIFF20 QDIFF28 QDIFF29 QDIFF29 QDIFF31	N Hean 25 -0.680 25 0.440 25 0.200 25 0.400 25 0.400 25 0.400 25 0.400 25 0.400 25 0.480 25 0.480 25 0.440 26 0.500 25 -1.080 25 -1.080 25 -0.240 25 -0.240 25 -0.640 23 1.043 23 0.174 25 -0.320 25 0.080 25 0.720 25 0.080 25 0.080 25 0.080 25 0.040 25 0.080 25 0.280 25 0.280 25 0.280 25 0.400	0.309 0.265 0.216 0.306 0.381 0.209 0.080 0.327 0.376 0.239 0.404 0.273 0.336 0.277 0.411 0.306 0.269 0.348 0.269 0.348 0.227 0.348 0.282 0.286 0.114 0.337 0.286 0.114 0.337 0.229 0.354 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.354 0.300 0.372 0.258 0.363 0.163	-2.198 1.660 0.926 1.309 -2.522 2.295 1.000 1.346 -1.330 2.177 -2.674 -0.881 -1.904 3.761 0.424 1.277 -1.1890 -2.268 2.518 0.700 1.782 0.771 -2.449	0.0379 0.1099 0.3638 0.2028 0.0187 0.0308 0.3273 0.1910 0.1965 0.0396 0.0133 0.3872 0.0689 0.0011 0.6760 0.3872 0.0689 0.0011 0.6760 0.2148 0.2460 0.4967 0.0326 0.0189 0.4907 0.0874 0.4907 0.0874 0.4907 0.0874 0.4907 0.0874 0.4907 0.0529 0.1560 0.9152 0.2460 1.0000 0.7589 0.4480 0.0220

65

44

ź

TABLE B-9. SENSOR THREE T-TEST RESULTS

.

1

----- POSIT=9 ------

1

Г. "

ί

TABLE B-10. INFLIGHT TECHNICIAN T-TEST RESULTS

----- POSIT=10 ------

į

/ariable	N	Mean	Std Error	T	Prob> T
DIFF1	40	-0.375	0.205	-1.832	0.0746
DIFF2	40	0.675	0.225	3.004	0.0046
DIFF3	40	0.500	0.152	3.291	0.0021
DIFF4	40	-0.450	0.253	-1.778	0.0832
DIFF5	40	-1.000	0.275	-3.636	0.0008
DIFF6	40	0.275	0.160	1.718	0.0937
DIFF7	40	0.125	0.082	1.533	0.1334
DIFF8	40	0.725	0.183	3.972	0.0003
DIFF9	40	-0.425	0.143	-2.978	0.0050
DIFF10	40	0.000	0.062	0.000	1.0000
DIFFII	40	-1.400	0.253	-5.541	0.0001
DIFFIZ	40	0.450	0.152	2.966	0.0051
DIFFIS	40	-0.050	0.193	-0.260	0.7966
DIFF14	37	1.027	0.304	3.380	0.0018
	3/	0.270	0.341	0.792	0.4338
	57	0.432	0.207	2.089	0.0438
DIFFI/	40	-0.1/5	0.202	-0.866	0.3920
DIFFIS	40	-0.025	0.216	-0.116	0.9086
	40	-0.325	0.249	-1.305	0.1996
	40	0.400	0.267	1.496	0.1428
	40	0.375	0.181	2.000	0.0455
	40	0.525	0.195	2.725	0.0096
	39	0.231	0.193	1.199	0.2381
	40	-0.175	0.211	-0.027	0.4150
	40	-0.025	0.201	-0.124	0.9016
	20	-0.105	0.304	-0.347	0./308
	40	-0.220	0.222	-1.015	0.31/3
	40	-0.750	0.125	-4 208	0.3235
	40	-0.750	0 104	-4.290	0.0001
	40	-0.375	0.170	-2.73/	0.0055
	40	-0.375	0.220	-1.042	0.1007

67

.1

TABLE B-11. ORDNANCE T-TEST RESULTS

7

----- POSIT=11 -----

Variable	N	Mean	Std Error	Т	Prob> T
QDIFF1	37	-0.946	0.245	-3.862	0.0004
QDIFF2	37	0.622	0.224	2.778	0.0086
QDIFF3	37	0.568	0.244	2.329	0.0256
QDIFF4	36	-0.056	0.316	-0.176	0.8615
QDIFF5	37	-1.216	0.320	-3.802	0.0005
QDIFF6	37	0.081	0.206	0.393	0.6968
QDIFF/	36	-0.083	0.083	-1.000	0.3242
	3/	0.784	0.266	2.946	0.0056
QDIFF9	37	-0.027	0.137	-0 197	0 8666
QDIFFIC	37	-1 243	0.137	-2 820	0.0440
	37	-0.027	0.147	-0.183	0.8556
QDIFF13	37	-0.216	0.174	-1.244	0.2217
QDIFF14	36	1.306	0.245	5.329	0.0001
QDIFF15	36	-0.472	0.327	-1.443	0.1580
QDIFF16	36	0.722	0.176	4.093	0.0002
QDIFF17	37	-0.216	0.260	-0.831	0.4117
QDIFF18	37	0.108	0.238	0.454	0.6526
QDIFF19	37	-0.324	0.280	-1.160	0.2537
QDIFF20	37	0.919	0.220	4.168	0.0002
QDIFF21	3/	0.243	0.131	1.859	0.0/13
WUIFF22	3/	0.486	0.143	3.402	0.0017
QDIFF23	37	-0.632	0.130	-1 686	0.3337
	37	-0 297	0 208	-1 428	0 1619
QDIFF26	37	-0.162	0.289	-0.562	0.5778
ODIFF27	37	-0.378	0.230	-1.642	0.1092
QDIFF28	37	0.730	0.231	3.154	0.0032
QDIFF29	37	-0.378	0.252	-1.500	0.1422
QDIFF30	37	-0.324	0.271	-1.195	0.2399
QDIFF31	37	-0.432	0.321	-1.348	0.1861
QDIFF32	37	-0.054	0.116	-0.466	0.6437

8

é

REFERENCES

- 1. Borowsky, M.S., "Are You A High Risk Pilot," Approach, April 1987.
- Borowsky, M.S., "Aviation Mishaps And The Time Of Day," Approach, 3 May 1990.
- 3. Borowsky, M.S., *Top Aircrew Errors*, Naval Safety Center, April 1990.
- 4. Borowsky, M.S., *Navy/Marine Mishap Trends by Model*, Naval Safety Center, 26 August 1991.
- 5. Borowsky. M.S., *P-3 Class A Mishaps 1984-1992*, Naval Safety Center, April 1992.
- 6. Chief of Naval Operations, OPNAV Instruction 3750.6Q, *The Naval Aviation Safety Program*, Naval Safety Center, p. 4A-1, January 1991.
- Cooper, G.E., Lauber, J.K., "Resource Management on the Flight Deck," Proceedings of the NASA/Industry workshop, NASA-Ames Research Center, 1980.
- 8. Cooper, G.E., White, M.D., and Lauber, J.K., "Resource Management on the Flightdeck," Proceedings of the NASA/MAC Workshop, Moffett Field CA, May 1986.
- 9. Foushee, H.C., Manos, K.L., Information Transfer Within the Cockpit, NASA/Ames Research Center, TP-1875, 1981.
- 10. Gregorich, S.E., Helmreich, R.L., Wilhelm, J.A., *The Structure of Cockpit Management Attitudes*, NASA/UT Technical Report, 89-1. 1989.
- 11. Gregorich, R.L., Helmriech, R.L., Wilhelm, J.A., Chidester, T., Personzality Based Clusters as Predictors of Aviator Attitudes and Performance, NASA/UT Technical Report, 1989.
- 12. Hackman, R.J., "Resource Management and Cockpit Crew Coordination," Harvard University, April 1989.
- 13. Halliday, J.T., Biegalski, C.S., and Inzana, A., "CRM Training in the 349th Military Air Wing," Proceedings of the NASA/MAC Workshop, Moffett Field CA, May 1986.

- 14. Helmreich, R.L., Foushee, H.C., Benson, R., Russini, R., "Exploring the Attitude-Performance Linkage," *Aviation, Space and Environmental Medicine*, 1986.
- 15. Helmreich, R.L., "Theory Underlying CRM Training: Psychological Issues in Flight Crew Performance and Crew Coordination," Proceedings of the NASA/MAC Workshop, Moffett Field CA, May 1986.
- 16. Helmreich, R.L., Wilhelm, J.A. and Gregorich, S.E., Revised Versions of the cockpit management Attitudes Survey (CMAQ) and CRM Evaluation Form. NASA/UT Technical Report 88-3. 1988.
- Helmreich, R.L., Chidester, T.R., Foushee, H.C., Gregorich, S.E., Wilhelm, J.A., "How Effective is Cockpit Resource Management Training," International Airline Pilot Training Seminar, Caracas, Venezuela, 23 January 1989.
- Helmreich, R.L., Wilhelm, J.A., "When Training Boomerangs: negative Outcomes from Cockpit Resources Management Training," Fifthe Aviation Psychology Symposium, Ohio State University, 1989.
- 19. Hess, L.E., P-3 Class A Mishaps, Naval Safety Center, 1983.
- 20. Janis, I., Victims of Group Think, Boston, Houghton-Mifflin, 1972.
- 21. Lauber, J.K., "Cockpit Resource Managemt: Background and Overview," Proceedings of the NASA/MAC Workshop, Moffett Field CA, May 1986.
- 22. Lewin, L., "Group Decision and Social Change," *Readings in Social Psychology*, 1958.
- 23. Manningham, D., "Managing Cockpit Safety," Business and Commercial Aviation,, June 1988.
- 24. P-3C Flight Manual, NAVAIR 01-75PAC-1, P3-C Aircraft NATOPS, Lockheed California Company, 1 December1983.
- 25. Ruffell Smith, H.P., A Simulator Study of the Interaction of Pilot Workload With Errors, NASA/Ames Research Center, TM-78482, 1979.
- 26. SAS Institute Inc., SAS User's Guide: Basics, Version Six, v.2, p. 1678, SAS Institute Inc., 1991.
- 27. Smith, H.H., Interview with the author, June 1992.

- 28. Szilagy, A.D., Wallace, M.J., Organizational Behavior and Performance, Scott, Foresman and Co. 1987.
- 29. VP-31 Aircrew Coordination FacilitatorsGuide, 23 May 1989.
- 30. VP-31 Aircrew Coordination Training Instructors Guide, 29 May 1990.
- 31. Weiss, N.A., and Hassett, M.J., *Introductory Statistics*, 3rd ed., Addison-Wesley Publishing, 1991.
- 32. Wilhelm, J.A., Helmreich, R.L., A First Look at the Navy P-3 Aircrew Coordination Training Seminar, NASA/University of Texas Cooperative Agreement, NCC2-286, 26 March 1990.
- 33. COMPATWINGSPAC Instruction 3370.1, Aircrew Coordination Training Program, Aug, 1990.

INITIAL DISTRIBUTION LIST

1.	Commander Patrol Wings U.S. Pacific Fleet NAS Moffett Field, CA 94035-5003	2
2.	Commander Patrol Wings U.S. Atlantic Fleet NAS Brunswick, ME 04011-5000	2
3.	Commander Naval Safety Center Code 00 NAS Norfolk VA 235111-5796	1
4.	Commander Patrol Squadron Thirty-One Attn: Dr. Henry H. Smith NAS Moffett Field, CA 94035	2
5.	Naval Postgraduate School Attn: Alice Crawford Code 54CR Monterey, CA 93943-5000	2
6.	Defense Technical Information Center Cameron Station Alexandria, VA 22304-5002	2
7.	Superintendent Attn: Library Code 1424 Naval Postgraduate School Monterey, California 93943-5000	2







DUDLEY KNOX LIBRARY NAVAL POSTGRADUATE SCHOOL MONTEREY CA 93943-5101





